


4
>

2y \] ] 9v

&

BEOEARATNAITTIO8ER - —ERFE [RKE  RE -

R R ] VIR R R VA BLR TS - B R RIE—RIICNCHES

HEEE - BHER @M EEH NEAEE]EH - c FEMNI0ZEER K H B
B ZEEaS - WNEE—FHFEzZ#MRTES (OEBE - MR ) ~ SiEas (BN M
) DIEA S 2BmESER © BB HRT -

FZEEY ZTRFRRIN - KBE2EET NGNS NT » BEREMENER—RIER @ AE
ABIFFHISEEBREIRER - M EACHIEE > Bt ERERLUBMERZEE D A
BRI RSN ERNMRT - B0 "BRAN  RAYNEX  REEE" - BEAAIE
o MHIAATRIEFER - ST RSITE « &Eh-- -

LI-HSUN INDUSTRIAL CO., LTD. was founded in 1978 and moved into the Taichung Industrial Park in
October 2003 with 1,682 meters of factory and company premise. We always adhere to the operational
principle of "Looking for high quality, utility and innovation" to provide our customers with the best product

service.

Under our constant research and development, we provide a series of CNC superior and high performance
centers, interchangeable insert centers, high performance centers, and heavy-duty rotary centers, etc.
More than ten kinds of rotary centers include high speed, light, medium-duty, and heavy-duty types.
Furthermore, we have developed the Z Axial Preset (optical and dial gauge type), Edge Finder (optical
and mechanical type), and non-conduction fully ceramic edge finder.

After more than three decades of rich experience having been accumulated, the specialized operations

conducted with the improving technologies, along with the strong dedication and
continuous effort from our staff to develop and design a series of newly innovative

products, have altogether laid the solid foundation for Li Hsun to enter the

global market. To face up to the challenges of the new century, Li Hsun

progressively consolidates the symmetrical structure of its enterprise

in order to increase the competitiveness of the products. At all times,

Li Hsun aims to provide the users with superior products and

outstanding service. Striving to continue our innovative product

development with guaranteed quality is our ultimate and highest

regard. Li Hsun currently devotes its R&D energy into fast drill and

end mill re-sharpening machines.



NCP Type

P 1 LIVE CENTER
P5 oo ee
PO foare
P15 e
CENTER-FIXED TIP
(OPTICAL TYPE)
P26 BT-JTA Type

CNC DRILL CHUCK

P2 %
P6 e P
P11 s

P15 DKS Type

WORK-DRIVING
CENTER-CHANGABLE TIPS

ZIP-50/50A Type
ZAXIAL PRESET GAUGE
(INDICATOR TYPE)

P20

MEP Type
P23 CERAMIC EDGE FINDER

BT-FMA FBFNC Type
FACE MILL HOLDER

P27

NCF Type

PS LIVE CENTER

NK Type

LIVE CENTER

P7

NCR Type
LIVE CENTER

P12

p16.NHD Type

Z0OV-50 Type
GAUGE ATTACHED

P20

BT Type
MILLING CHUCK

P24

BT-MTA.MTB Type
MORSE TAPER HOLDER

P28

TRANSMISSION CENTER

NCFP Type

P3 LIVE CENTER

P7

LIVE CENTER

PC Type
LIVE CENTER

P13

P17

LIVE CENTER (PARTS)

SOE Type
OPTICAL EDGE FINDER
(TOUCH POINT SENSOR)

P21

BT-ER Type
P25 SPRING COLLET CHUCK SYTEM

BT-SLE Type
SIDE LOCK END MILL
HOLDER

P29

NKS Type

NCH Type
P5 veeenmen CT BHF T: CK Type HSK Type BHF Type
Clype ER Type ohFlype  pg3g P35
P31 Comnamoones P31 ommcconss | 02 SHESUALL DWETER % BORING HEAD SHANK HSKBORING HEAD SHANK SHANKS SERESHSK
2.38
2,
Il _ 7 A o
! /
H /
NC Type
Pg LIVE CENTER
CK Type CBH Type CBJ Type BCH-2/3/4 T

BHF Type yp 3/4 Type

P37 BHF SMAyLLpDIAMETER P38 giﬁz%%%h?%[ﬂ?é@ P39 BORING INSERT SYSTEM P41 BORING HEAD SETS (CBH) P42 BORING HEAD SETS (CBJ) P43 BORING HEAD
MICRO BORING HEAD

BC Type
P14 BULL NOSE CENTER

BT/R8/NT/MT Type BHC-2 Type BHC-3Type TOOL HOLDER LOCKING BT-MAS 403 Type DIN A/B Type

P44 BORING HEAD SHANK P45 BORING HEAD SETS (BHC-2) P46 BORING HEAD SETS (BHC-3) P47 FIXTURES P48 PULL STUDS P49 PULL STUDS

DC Type
P18 DRIVING CENTER
KPU Type

ISO A/B Type CAT Type CAT-BT Type MAZAK Type p54NTType  pgg = VPO

P50 55 suos P51 2o sruns P51 0 Csrups P52 -0 Cstups INTEGRATED KEYLESS L A PE KEYLESS DRILL

SME Type
p22 MACHANICAL EDGE FINDER

XHSP Type XH Type H Type

P56 Sse rvee keviess P53 i 7vee keviess oRiL P54 rvaeieeviess o
DRILL CHUCK HEADS CHUCK HEADS CHUCK HEADS

BT-KPU Type
P26 KPU CNC DRILL CHUCK

BT-WER Type
P30 STRAIGHT SHANK WER
TAPPING ATTACHEMENT



(KL

S B I

SUPER HIGH-SPEED, WATER-PROOF TYPE
RPM:8000-10000 MT/MK. 3,4,5

=i el SR

HIGH-PERFORMANCE TYPE

RPM

:2300-5500 MT/MK.2,3,4,5,6

Na LIVE CENTER

‘A—TYPE

1. HETE#{5E FIAE 22 R A IR ER B 7K R R e

OREAGZ S
2. FBFFCNCE R

AeEREH -

X NCP-BR! ; BE/NT/EWIN TR -

1. The center uses precision angular contact

ball bearing and the combination of needle

bearing and ball bearing.

2. Applicable to CNC lathes, can be used at

high speed turning, and is water-proof .

X NCP-B type: Long nose live centers are

‘B~TYPE

W D = — =
S LS AN D ® A w
S S & S S S S o
s s s s n s s s s

400
500 1

weight of working piece in load/kgs
N
=
(=]

LIVE CENTER

‘A—TYPE

LOEERESTEMME @ KEZRREL

(HRC60® +17) B S M Se i BB o

2. k1B s Bl ERIE A M LA © ZRBIRIRH

A A BACNCERKRER « BhhKRET °
X NCK-BEY ; BE/NTIEWIIER -

1. The shaft is made of alloy steel and through vacuum

heat treatment HRC60" = 1°. It possesses great
rigidity and high durability.

2. The center uses the combination of roller bearing,

thrust ball bearing and ball bearing.

3. Applicable to CNC lathes, can be used at high speed

turning, and is water-proof .

X NCK-B type: Long nose live centers are suitable for

small workpieces.

B—TYPE
o L
A B ‘ E
2

o|g|=el "

501

60

801

125

| NCK-MT.2A

weight of working piece in load/kgs

630-NCK-MT.3A(B)

|NCK-MT.4A(B

NCK-MT.(6A)

354570 100 130 190 270 350 500 800 1000 1500 2200 3000 4000 5000 6000
R.PM

suitable for small workpieces.
000 T T T T T T T T T T T T T T T R i’M
200355 450 560 710900 1120 1400 1800 2240 2800 3550 4500 5500 7000 9000 11000
R.PM
E{i7/Unit:mm
MORES TAPER CotsE Max G.W. BERTY
CIRIRISR Niok MT/MK A B C D DI d L atcuacy RPM | ° WEIGHTkgs LxWxH
08010003 NCP-MT.3A 38 | 58 86 |48 | 30 - 1182 0.003 10000R.P.M | 60° 1.14 kgs 240 x 80 x 65
08010004 NCP-MT.4A 45 | 65 | 108 | 62 | 32 - | 215 0.003 10000R.P.M | 60° 2.20kgs 257 x 100 x 90
08010005 NCP-MT.5A 50 70 136 | 72 | 40 - | 256 0.003 8000R.P.M | 60° 3.70kgs 300 x 100 x 90
08010013 NCP-MT.3B 48 | 58 | 86 |48 30 | 10 | 192 0.003 10000R.P.M | 60° 1.18 kgs 240 x 80 x 65
08010014 NCP-MT.4B 52 | 65 | 108 62 | 32 | 12 | 225 0.003 10000R.P.M | 60° 2.24 kgs 257 x 100 x 90
08010015 NCP-MT.5B 60 70 136 72 | 40 | 14 | 266 0.003 8000R.P.M | 60° 3.74 kgs 300 x 100 x 90

BS{7/Unit:mm
ORDERNO. MORESTAPER 'n B ' c D D1 d L A%gu*'%;%y X8 | WEISHT kee BERY
08010022 NCK-MT2A 20 38 69 | 32 13| - 127 0003 | 6000RPM 60°  038kgs | 180x50x40
08010023 NCK-MT3A 34 61 86 58 25 - 181 0003 | 5200RPM 60°  158kgs | 240x80X65
08010024 NCK-MT4A 44 72 109 76 35 - 225 0003 | 5000R.PM 60°  3.04kgs | 257x100x90
08010025 NCK-MT5A 60 91 136 95 45 - 287 0003 | 3500RPM 60°  654kgs = 320x118x115
08010026 NCK-MT6A 64 106 190 120 58 - 360 0008 | 2300RPM 60°  150kgs | 425x185x180
08010033 NCK-MT3B 45 61 86 58 25 10 192 0003 | 5200R.PM 60°  158kgs | 240x80x65
08010034 NCK-MT4B 55 72 109 76 35 12 236 0003 | 5000R.PM 60°  3.10kgs | 257x100x90
08010035 NCK-MT58 70 91 136 95 45 14 297 0003 | 3500RPM 60°  654kgs  320x118x110

2



A==l

HEAVY-LOAD TYPE
RPM: 4000-6000 MT/MK.3, 4, 5

m LIVE CENTER

LOBEReeTIEMCME  KEZHRIEAMHRCE0” = 17) B Sl 1 L M o
2. WETESHE R BIfE Rt dh A S L SR - RERIREA S BACNCERER ~ BIHKEE
X NCF-BE! ; A/ NTEMINT(ERA -

1. The shaft is made of alloy steel and through vacuum heat treatment (HRC 603 1°). It possesses great
rigidity and high durability.

2. The center uses the combination of roller bearing, thrust ball bearing and ball bearing.

\IA\‘*TYPE 3. Applicable to CNC lathes, can be used at high speed turning, and is water-proof.

X NCF-B type: Long nose live centers are suitable for small workpieces.

60

80
100
125 4
160
200
457748 SPECIAL ORDER 250
. % 300
B —TYPE #88 WITH CARBIDE TIPPED £ ]
g 50+
£ 630 1 - B
$ 50 ]
& 000 | NCFP-MT.4
% |NCF-ML4A.(B
'.212507
$ 1600 | NCFP-MT5
< 2000 - \>
LIVE CENTER %2500—
.53000 T T T T T T T T T T T T T T T T T T
= 2535 4570100 130 190 270 350 500 800 1000 1500 2200 3000 4000 5000 6000
R.PM
BE{TI/Unit:mm
MORES TAPER Cots=E Max G.W. BERY
ORDER NO. ATV AB|C D|D1 d| L |dl aldirasy| REM | © |WEIGHTkgs| L xWxH
08020003 NCF-MT.3A 38 50 86 53 30 - 174 12 0003 | 6000RPM 60°  126kgs 240 x 80 X 65
08020004 NCF-MT4A 45 60 108 68 32 - 213 12 0003 | 5500R.PM 60°  238kgs 257 x 100 X 90
08020005 NCF-MT5A 52 70 136 87 40 - 258 18 0.003 | 4000R.PM 60°  4.82kgs 300x 118 x 115
o (@15_5 08020013 NCF-MT.38 52 50 8 53 30 10 188 12 0003 | 6000RPM 60°  1.28kgs 240 % 80X 65
08020014 NCF-MT4B 55 60 108 68 32 12 223 12| 0.003 | 5500RPM 60°  2.40kgs 257 x 100 x 90
s ‘ ‘ o ‘ 08020015 NCF-MT.5B 67 |70 | 136 |87 | 40 | 14 | 273 18 | 0.003 | 4000R.P.M  60° 4.90 kgs 320x 118 x 115
| I |
G345 G316 G312 G310 G308 G306 08020024 NCFP-MT4 | 29 64 108 68 32 - 201 - 0005 5500R.PM 30°  296kgs 238 x 132 x 80
08020025 NCFP-MT5 37 70 136 87 40 - 243 - 0005 | 4000RPM 30°  5.40kgs 280 x 150 x 106

4



SRy

HIGH-SPEED, WATER-PROOF TYPE
RPM: 1500 - 5000 MT/MK. 3, 4, 5, 6

= el ElEr (L ERuEEY)

HGIH SPEED, WATER-PROOF TYPE

R

219

‘A —TYPE
‘B-TYPE
@IW r @32 ( 212.6
NCS-MT3 MT.4
l_ 239 ! ! @32
G230 G212
@20 r @45 I— @15.5
NCS-MT4P MT.5P
1 @52 ! ! @47
G345 G316

157348 SPECIAL ORDER

#5#8 WITH CARBIDE TIPPED

o

@52 ‘

G208 G206 G205 G200

G310 G308 G306

m LIVE CENTER

AT—TYPE

1250

ght of working piece in load/kgs

NCS-MT.3

NCS-MT5(P)
(B

BT—TYPE

1R {6 Y RERE A S R REtEACAS -

2L TEEHEANCNCE R - ERESREA - ARk -

X NCH-BELE S/ NTAEY 2 T HIH|

1. Center shaft is made of alloy steel and hardened through
vacuum heat treatment to provide higher rigidity HRC 60+ 1°.

2. Center is fitted with dual ball bearing, thrust bearing and
needle roller bearing assembly.

3. Applicable to high speed lathes and CNC lathes with heavy
loads.

S 5000 NN N s VVV

RpM 25 35 4570 100 130 190 270 350 500 800 1000 1500 2200 3000 4000 5000

& {T7/Unit:mm

ORDER No. | MORES TAPER Al B | c | D [D1|d | L |af A%gﬁigcy REM | © WEIGHT kgs E%vﬁxgl;
08030003 NCH-MT.3A 39|55 |86 | 53|30 -|180|12| 0.003 |5000R.P.M |60° 1.28 kgs 240x80x 65
08030004 NCH-MT.4A 42| 62 [108| 63 |32 | - |208|12| 0.003 |4500R.P.M |60° 2.08 kgs 257 x 100 x 90
08030005 NCH-MT.5A 49| 71 |136| 83 | 40 | - | 256 |18 | 0.003 |3500R.P.M | 60° 4.42kgs 320x118x 115
08030006 NCH-MT.6A 80| 110|189 | 128 | 70 | - | 879 - 0.008 | 1500R.P.M | 60° 15.7 kgs 425x185x 180
08030013 NCH-MT.3B 45|55 | 86 | 53 | 30 |10 |186 | 12| 0.003 |5000R.P.M | 60° 1.30 kgs 240x 80 x 65
08030014 NCH-MT.4B 52| 62 | 108 | 63 | 32 [12|218 | 12| 0.003 | 4500R.P.M | 60° 2.10kgs 257x100x 90
08030015 NCH-MT.5B 59| 71 |136| 83 | 40 |14 |266 | 18| 0.003 |3500R.P.M | 60° 4.54 kgs 320x118x 115
08030023 NCS-MT.3 28|55 |86 |53 (30| -|169] - 0.005 | 5000R.P.M | 60° 1.50 kgs 235x 130 x 100
08030024 NCS-MT.4 30| 62 |108| 63 | 32| - | 196 - 0.005 | 4500R.P.M | 60° 2.18 kgs 235x130x 100
08030034 NCS-MT.4P 30| 62 [108| 63 |32 | - | 196 - 0.005 | 4500R.P.M | 30° 2.70 kgs 238x132x 80
08020035 NCS-MT.5P 34|71 |136| 83 | 40 | - | 237 - 0.005 | 3500R.P.M | 30° 5.00 kgs 280x 150x 106
08020044 NCH-MT.4AT | 42| 62 [108| 60 |32 | - [208 | 12| 0.003 |4500R.P.M | 60° 2.46 kgs 257x100x 90
08020045 NCH-MT.5AT | 49| 71 |136| 80 | 40 | - | 256 |18 | 0.003 |3500R.P.M | 60° 5.12kgs 320x 118x 115
08020054 NCH-MT.4BT |52 | 62 |108| 60 | 32 | 12218 | 12| 0.003 |4500R.P.M | 60° 2.52 kgs 257 x 100 x 90
08020055 NCH-MT.5BT |59 71 | 136] 80 | 40 |14 /266 | 18| 0.003 | 3500R.P.M | 60° 5.20 kgs 320x118x 115

6



il

ROLLING TYPE
RPM: 2000 - 5000 MT/MK.2, 3, 4, 5

‘A —TYPE

‘B~TYPE

oy r032 ( @126 J—mo (ras I—fas (zwo
\_ 239 ‘ ‘ 932 ‘ 219
I (. |

G230 G212 G210 G208 G206 G205

15 5% #1148 SPECIAL ORDER

#5388 WITH CARBIDE TIPPED

=

@52 ‘

G200

10BN M E - KREEREIEAHRCE0” £17) ©
2. WEIBSHE A b A o SHREHR SRS - RIREACAS ©
3.HAR s SR HEK  KHasE -
X NK-BELEEFR/NTAEMZ i THIHI -

1. Center shaft and main body are made of alloy steel and hardened to (HRC60° *1°).
2. Center is assembled with thrust bearing, needle bearing and ball bearing.
3. Applicable to medium and high speed lathes with heavy loads.

X NK-B model: Long nose live centers are suitable for small workpieces.

40 7]
50 7
637
80 7
100 7
126 7

160 | NKS-MT.2
| NK-MT.2A

300 INKS-MT.3
INK-MT.3A(B

500 NHS-MT,4%
NK-MT.4

weight of working piece in load/kgs

4570100 250 500 7501000 1500 2000 2500 3000 3500 400045005000

R.PM
E{T/Unit:mm
QIMPIERING MORI\%'?/I\-I/-IQPER A E B el el A%gffgy Rl\.lllg.)l(\/l © weghvtvl-(gs L@),(%VRXTL
08040002 NK-MT.2A 28 (35|69 |32|23 | - |132| - 0.003 5000R.P.M | 60° | 0.36 kgs 175x45x 45
08040003 NK-MT.3A 36|44 | 86 |41 | 35| - | 166 | 12 0.003 3500R.P.M | 60° | 0.88 kgs 200 x 60 x 50
08040004 NK-MT.4A 41 |51 108 |47 | 40 | - | 200 | 12 0.003 3000R.P.M | 60° | 1.46 kgs 240 x 80 x 65
08040005 NK-MT.5A 5472|136 | 65| 52 | - | 262 | 18 0.003 2000R.P.M | 60° | 3.70 kgs 300 x 100 x 90
08040013 NK-MT3B |46 |44 | 86 | 41|25 |10|176 | 12| 0003 |3500R.PM |60°| 0.84kgs 200 x 60 x 50
08040014 NK-MT.4B 55|51 108 |47 | 32 |12 | 214 | 12 0.003 3000R.P.M | 60° | 1.46 kgs 240 x 80 x 65
08040022 NKS-MT.2 22(36| 69 |32 25| - [127 | - 0.005 5000R.P.M | 60° | 0.86 kgs 173 x102 x 66
08040023 NKS-MT.3 23|44 | 86 |41 |30 | - | 153 | - 0.005 3500R.P.M | 60° | 1.18 kgs 235x 130 x 100
08040024 NKS-MT.4 23|51 [108 |47 |32 | - | 182 | - 0.005 3000R.P.M | 60° | 1.62kgs 235x130x 100

8



Rl M)

MEDIUM-LOAD TYPE
RPM: 5000 - 6500 MT/MK. 4, 5

‘A —TYPE

‘B-TYPE

| LIVE CENTER

G345 G316 G312 G310 G308 G306

1. BIIH{E R Y &) AR BREH A S b A - SORSTEI R A o
2. LTS ANCNCER » EmRKFafEH - AjK%E -
X NC-BEE S/ NT/EW 2 i THHE! -

1. Front end is fitted with angular contact ball bearing, thrust bearing and needle bearing.
2. These centers are suitable for CNC lathes at high-sped and medium-load. Waterproof design.

X NC-B type: Long nose live centers are suitable for small workpieces.

& 300

% 400

g 500 {INCD-MT.4

£ 630 NC-MT4A(B)

8 00 DM

"B1000 4 T

4 NC-MT.5A.(B)

5 1250 4

5 1600 4

= 2000 4

= 2500 -

s 3000 T T T T T T T T T T T T T T T T T T T

2 25 35 4570 100 130 190 270 350 500 800 1000 1500 2200 3000 4000 5000 60006500

R.PM
B8{T7/Unit:mm
MORES TAPER CofsE Max G.W. BERY
ORDER NO. MT/MK A | B C D D1|d L Accuracy R.P.M 6 weight kgs LxWxH

08200004 NC-MT.4A 44 | 55 | 108 | 53 | 30 - | 207 0.003 6500R.P.M | 60° 1.58 kgs 240 x 80 x 65
08200005 NC-MT.5A 48 | 61 | 136 | 68 | 35 - | 245 0.003 5000R.P.M | 60° 3.28 kgs 300x 100x 90
08200014 NC-MT.4B 52 | 55| 108 | 53 | 30 | 12 | 215 0.003 6500R.P.M | 60° 1.60 kgs 240 x 80 x 65
08200015 NC-MT.5B 58 | 61 | 136 | 68 | 35 | 14 | 255 0.003 5000R.P.M | 60° 3.38 kgs 300 x 100 x 90
08200024 NCD-MT.4 33 | 55| 108 | 53 | 30 - 196 0.005 6500R.P.M | 30° 2.32kgs 238 x 132x 80
08200025 NCD-MT.5 37 | 61| 136 | 68 | 35 - | 234 0.005 5000R.P.M | 30° 4.12kgs 280 x 150 x 106

10



HEES 12 R I

SUPER-LOAD TYPE
RPM: 1000 - 1800 MT/MK.5, 6, 7, B0#

oY BRI

ADJUSTMENT WATER-PROOF TYPE

RPM: 1500 - 5000 MT/MK. 3, 4, 5, 6

weight of working piece in load/kgs

50100 250 500 750 1000 1500 2000 2500 3000

LOMEATRESESTACME @ KEZZEE » H0
0B B E M - B ERmHRC60™~ 62°) o

2. hIESHERAN B BRARESWEHEM -

X BHKERE

1. Shaft uses alloy steel and hardened through vacuum heat
treatment to (HRC 60°~ 62°).

2. Applicable to heavy duty lathes.

X Waterproof design.

R.PM
B3{'/Unit:mm
MORES TAPER CofsE Max G.W. BERY
ORDER NO. MT/MK Al B | C | DIDTL e rasy | RPM ®  WEIGHTkgs LxWxH
08060005 SW-MT.5 52 g2 135 98 50 269 0.005 | 1800R.PM | 60° 7.5 kgs 340 x 140 x 120
08060006 SW-MT6 74 116 190 148 70 380  0.008 | 1000R.PM | 60° 22 kgs 425 x 185 x 180
08060007 SW-MT7 106 127 260 196 90 493  0.008 | 1000RPM  60° 41 kgs 530 x 242 x 235
08060008 SW-MT-80# 106 127 | 200 196 | 90 | 433 | 0.008  1000R.PM  60° 39 kgs 530 x 242 x 235

11

LIVE CENTER

‘A—TYPE

LOEERGSTRMME - KREZRGRIB(HRCE0" +1°)
Bt M2 -

2. [CIESHE AR A - IHEER SORSTA S

3. AR ~ BERHER - BBKE -

X BIKERE

1. The shaft uses alloy steel and hardened through vacuum heat
treatment to (HRC60° +=1°).

2. The center uses the combination of taper roller bearing,
thrust bearing and needle bearing.

3. Applicable to medium and heavy loads.

4, The center is adjustable to reach original loading capacity
after using for a long period of time.

3 Long nose live centers are suitable for small workpieces.

X Waterproof design.

‘B-TYPE

weight of working piece in load/kgs

125

4570100250500 750 1000 1500 2000 2500 3000 3500 4000 5000

R.PM

B3{T/Unit:mm

oroErNo. MORESIEPER (A B o b D1 d L AT, RBM ° wediTes  Cxwxh
08070003 NCR-MT.3A 37 478 | 50 | 25 - | 170 0.003 | 5000R.P.M | 60° 1.06 kgs 240x 80 x 65
08070004 NCR-MT.4A 45 59 | 108 | 65 | 32 - | 212 0.003 | 4500R.P.M | 60° 2.40 kgs 257 x 100 x 90
08070005 NCR-MT.5A 50 62| 136 | 80 | 40 - | 248 0.003 | 3500R.P.M | 60° 4.40 kgs 320x118x 115
08070006 NCR-MT.6A 66 85 189 128 60 | - 333 0.008 | 1500R.P.M @ 60° 14.2kgs 425x185x 180
08070013 NCR-MT.3B 47 47| 86 | 50 | 25 10| 180 | 0.003 | 5000R.P.M | 60° 1.08 kgs 240x80x 65
08070014 NCR-MT.4B 55 59 | 108 | 65 | 32 12| 222 0.003 | 4500R.P.M | 60° 2.42kgs 257 x100x 90
08070015 NCR-MT.5B 60 85| 136 | 80 | 40 14 263 0.003 | 3500R.P.M | 60° 4.30kgs 320x118x 115

12



5 e 2L I
NORMAL TYPE
RPM: 2000 - 4500 MT/MK. 1, 2, 3, 4, 5

e

BULL NOSE CENTER TYPE

B @ LIVE CENTER

weight of working piece in load/kgs

45 70 100 250 500 750 1000 1500 2000 2500 3000 3500 4000 4500

—

I TESHERRIEM M E - KBEEAEIES
(HRC58°~ 60" ) E =41 -

CETES AREREACAES -

CERARF s SRERAZEEZFER -

. Center is made of Cr-Mo steel and hardened to
HRC 58°~ 60°.

. Center is assembled with ball bearings.

. Applicable to medium and high speed lathes
with light duty.

R.PM
BS{T7/Unit:mm

MORES TAPER CofsE Max G.W. BERY

ORDER NO. MT/MK Al B C DDl | L | &raey| RPM | ° | weightkgs | LxWxH
08080001 PC-MT.1 21| 31| 56 | 32| 16 | 108 0.005 4500R.P.M | 60° 0.22kgs 120 x 40 x 40
08080002 PC-MT.2 26 | 37 | 69 |40 | 22 | 132 0.005 3500R.P.M | 60° 0.42 kgs 140 x 50 x 50
08080003 PC-MT.3 32| 46| 86 |45 | 26 | 164 0.005 3000R.PM | 60° 0.76 kgs 170 x 50 x 50
08080004 PC-MT.4 34 | 46 | 108 | 48 | 30 | 188 0.005 2500R.PM | 60° 1.22 kgs 205 X 60 X 60
08080005 PC-MT.5 50 | 62 | 136 | 68 | 45 | 248 0.005 2000R.P.M | 60° 3.20kgs 260 x80x80

13

LIVE CENTER

w N =

. AU TAST IR
. NEME ARSI FORTR BB A A -
JERRBRZRFAALZ TR -

ZEFREREEMME - KEFRIB(HRCB0 +1°) o

1. The tip of bull nose center uses Cr-Mo steel and hardened to (HRC60° = 1°).

2. The center uses a combination of taper roller bearing and ball bearing.

4/Unitmm 3. Applicable to pipes tumning.

ORDER NO.|MORES T8PER| A 1B c | D |D1| L A%gf;%y X | Load weight | © we%hvtvlkgs E%v%%
08102063 BC63-MT.2 | 46 |17| 69 | 63 | 12 |132| 0.005 |4000R.P.M | RPM100=200kg |60°| 0.94kgs | 195x86x86
08103063 BC63-MT.3 | 46 |17| 86 | 63 | 12 |149| 0.005 |4000R.P.M | RPM100=200kg |60°| 1.08kgs | 195x86x86
08103078 BC78-MT.3 |52 |18| 86|78 | 15 |156| 0.005 |3300R.P.M | RPM100=400kg |70°| 1.56kgs | 195x86x86
08103106 BC106-MT.3 | 59 |16| 86 |106| 25 |161| 0.005 |3000R.P.M | RPM100=500kg |75°| 2.66kgs | 220x120x 120
08104063 BC 63-MT.4 | 46 |17|108| 63 | 12 |171| 0.005 |4000R.P.M | RPM100=200kg |60°| 1.38kgs | 195x86x86
08104078 BC78-MT4 |52 [18/108| 78 | 15 |178| 0.005 |3300R.P.M | RPM100=400kg |70°| 1.88kgs | 195x86x86
08104106 BC106-MT.4 | 59 |16/108|106| 25 |183| 0.005 |3000R.P.M | RPM100=500kg |75°| 2.96kgs | 220x 120x 120
08104128 BC128-MT.4 | 73 |12/108|128| 40 |193| 0.005 |2000R.P.M | RPM100=650kg |70°| 4.84kgs | 140x140x 240
08104156 BC156-MT.4 | 88 |12/108|156| 45 |208| 0.008 |1900R.P.M | RPM100=800kg |70°| 7.68kgs | 170x170x 260
08104206 BC206-MT.4 | 98 [12|108|206| 81 |218| 0.008 |1500R.P.M |RPM100=1300kg|70°| 15.0kgs | 285x285x 360
08104258 BC258-MT.4 |107|13/108|258| 92 |228| 0.008 |1200R.P.M |RPM100=2000kg |80°| 22.0kgs | 285x285x 360
08105128 BC128-MT.5 | 73 [12|136|128| 40 |221| 0.005 |2000R.P.M | RPM100=650kg |70°| 5.70kgs | 140x 140x 240
08105156 BC156-MT.5 | 88 |12|136|156| 45 |236| 0.008 |1900R.P.M | RPM100=800kg |70°| 8.54kgs | 170x170x260
08105206 BC206-MT.5 | 98 |12/136|206| 81 |246| 0.008 |1500R.P.M |RPM100=1600kg |70°| 16.0kgs | 285x285x360
08105258 BC258-MT.5 |107|13 /136|258 | 92 |256| 0.008 |1200R.P.M |RPM100=2200kg |80°| 25.0kgs | 285x285x 360
08105306 BC306-MT.5 |107|30|136|306|120|273| 0.01 |1000R.P.M |RPM100=3000kg |90°| 37.0kgs | 340x340x 360
08106206 BC206-MT.6 | 98 [12|190|206| 81 |300| 0.008 |1500R.P.M |RPM100=2000kg|70°| 20.0kgs | 285x285x360
08106258 BC258-MT.6 |107|13|190|258| 92 [310| 0.008 |1200R.P.M | RPM100=2500kg |80° 29.0kgs | 285x285x360
08106306 BC306-MT.6  |107|30|190|306|120|327| 0.01 |1000R.P.M |RPM100=3000kg |90°| 40.0kgs | 340x340x360

14



2B SR IE s

WORK-DRIVING CENTER

= EEE

AUTO ADJUSTABLE TRANSMISSION CENTER

==

U

=5

WORK-DRIVING CENTER -

1.

FIXED TIP

21 TRANSMISSION CENTER

It G0 AR TE SR 2 451 BURERIE o KRS E
BEI8 A(HRCB0° +=1°) ©

2. DEFHEKRINTEREBRKTE @ B2 TED ;
BLL - LRI A R 6T RET 2305 FIR S CNCRAER
BEMNLZIGE @ SAARBEEN > FinTH5E 1. ltBEeR]ES » BAWEAFIINTY
REFR - o LR - St ST.6TREEFARERST N2,
3. bR RIEST » Reai Rl Em A o EIN T HEES I -
1. Body and center shaft are made of alloy steel with 2. HANE S AR B NIRRT FIEHER
heat and sub-zero treatment. WM » NS o« EEE 5 E o
% Hardened: HRC60" +1°. BHEH -

2.

WORK-DRIVING CENTER - CHANGEABLE TIPS

Driving dog is required for traditional lathes turning
to prevent workpiece from stopping. These work
driving centers are either with 6 teeth or 8 teeth
design for superseding the driving dogs. It supports
the workpiece on end surface for easy setup and
rapid machining.

. The work-driving center is also applicable for gear

hobbing machine.
LATHE, CNC LATHE

1. The auto adjustable transmission center is
suitable for the asperities of workpieces. The
auto adjustable transmission center with
5Tand 6T design on end surface is able to
adjust the stress point so that the workpieces
will be done easily.

2. The inside structure of the center is
comprised of PU. It is nearly free of break-
down, and is durable and easy to fix.

BS{iZ/Unit:mm B8 {T1/Unit:mm
ORDER NO. MOR'\E%'\-;QPER Cen%\rﬁgﬁg{gze gﬁéﬁ’g WO:"%?‘Eggﬁr Qe WE|%|'\,|\4: kgs L@;(%VRXT_I[I MORSE TAPER MT / MK Cenltl\é\lj§ Igjh{r;\ijtrsize glt%ﬁ)g Wo%i{fgﬁlg;{nge WEICCES-I\-II\'II'- kgs L@;(%VRXT_I[I
08090015 DK-15 MT.4 60 160 160-250 0.60 kgs 175x40x 40 NHD-31 MT.4 05 016 120~200 1.76 kgs 220X 90X 80
08090023 DK-23 MT.4 80 230 230-320 0.64 kgs 175X 40 x 40 NHD-32 MT.4 29 @25 180~350 2.30 kgs 220 x 90 x 80
08090032 DK-32 MT.4 80. 140 320 320-450 0.68 kgs 175x 40 x 40 NHD-33 MT.4 / MT.5 14 039 300~550 2.94/3.16 kgs 230x 110x 100
080900301 DKS-301 MT.4 60.80.120 160 . 230 . 3090 150-450 2.56 kgs 270x140x 110 NHD-34-MT.4 / MT.5 018 053 400~700 4.14/4.40 kgs 230x 110 x 100

15

16



[EbEn==gid

LIVE CENTER (PARTS)

EIEZE

DRIVING CENTER

. NCS-MT3 MT.4 NKS-MT.2.MT.3.MT .4

239 ‘ ‘ 232 ‘ 219 252

[ I
G230 G212 G210 G208 G206 G205 G200
ORDER NO. SPECIFICATION
08300230 G230
08300212 G212
08300210 G210
08300208 G208
08300206 G206
08300205 G205
08300200 G200

. NCS-MT4P MT.5P NCD/NCFP-MT.4 MT.5

420 DRIVING CENTER

1

EARERER
 BIFESEE

— N

‘mILC SR ECCENTRIC 2. Easy setup.

-

7 [BEP#H/ DRIVING SHAFT

AL A /FOR AUXILIARY PURPOSE

EE#R/STANDARD
)% / EMERY WHEEL

. Suitable for grinding shafts.

@20 —[ r @45 ( @15.5

o | | o |

[ I
G345 G316 G312 G310 G308 G306
ORDER NO. SPECIFICATION
08300345 G345
08300316 G316
08300312 G312
08300310 G310
08300308 G308
08300306 G306

17

BN R i F ADJUSSTING SCREW

ﬁ}_r AI #8482 / GRINDING ROTARY TABLE

B / TAILSTOCK

B8{1/Unit:mm
ORDER NO. SPEC. {5 FR%3E) /Range A B c WEIGHY ks
08200013 DC-13 60-140 36 18 9 0.06 kgs
08200022 DC-22 130-240 48 28 9 0.08 kgs
08200030 DC-30 200-330 58 38 1 0.12kgs
08200040 DC-40 310-420 68 48 11 0.14 kgs
08200050 DC-50 350-500 78 58 11 0.16 kgs
08200060 DC-60 400-620 89 68 11 0.18 kgs
08200080 DC-80 600-800 119 88 13 0.46 kgs
08200100 DC-100 800-1000 140 109 13 0.54 kgs

18



SR IO TEES

AXIAL PRESET GAUGE

TYPE

ER7E

1L HAE N AEHEEE - AERESRAT
ITERALLA o

2. SREER  NEAFERREIGE -

3. RERET BESR  SREMBRERIR
HERAEEES  LEEZERE -

4. RIEERAIES - SBRUT)7) 2 R RS R
@ o

< B 1 LRA4/ATEIG13X 21

BE{TI/Unit:mm

Z AXIAL PRESET GAUGE (OPTICAL TYPE)

ZOP-50

G

- BESOMMA ZETE

- AR AT AIALRIE B8

AL SR MEERER  RBEA
- F5E 1 0.005m/m

FEATURES

- Height: 50mm

- Base built-in magnets for easy setup.
- The red lamp lights-up when touched.

- Height can be micro adjusted and audited by
gauge block.

- Can be used vertically or horizontally.

- Weight: 0.3 kgs

- Battery type: LR44 / AT6 [ G13 x 2 pcs
- Accuracy: within 0.005mm

G.W. BERTY
ORDER NO. TYPE HEIGHT WEIGHT kgs L W xH
08420550 ZOP-50 50+0.005 0.64 kgs 110x 10x 80

19



gl St b SHER BB

Z AXIAL PRESET GAUGE (INDICATOR TYPE) OPTICAL EDGE FINDER

7l

S @ E 40 | OPTICAL EDGE FINDER (TOUCH POINT SENSOR)

Z AXIAL PRESET GAUGE (INDICATOR TYPE)

B Fl) £ 22 (PATENT REGISTERED)

SOE-32LB SOE-32L SOE-20LB SOE-20L SOE-20S

ZIP-50 ZIP-50A - Not necessary to rotate while measuring.

* Quickly locate work edges.

- Save time to find positions, for milling machine,
jig borers, and other machine tools.

- Accuracy 0.005mm

05 T IS A HIGH SENSIBLE POSITION MEASURING

R & =n s . - Uses dry batteries to light the red lamp.
1 'E? IR /SR LSRR Ok No Ok No - The scorye ofa Iicationgincludes edge suface,inside
2.52518/Z:50.00 + 0.005mm ° pe ofapp g ’
3 EAEL  BIESS - and outside diameters and high efficiency.
4-%%7]@0\ , BB\ T) SR B - - There is a safety spring puller which puts the ball
5.%%#@5@5’932%?& Eﬂq%—%gﬁz_@t" precisely back to the positing when ball breaks
6.ZIP-50A: FITHRERS HEERBE  HEST - away from ball seat.

Battery type:

FEATURES Umb5#, 1.5V x 2pcs (SOE-20L, 32L)

1.For setting tool length on machining centers / lathe centers. Um5#, 23A x 12V x 1pcs (SOE-20S, 32/ 20LB)

2.Setting hight: 50.00 + 0.005mm =
3.Large measuring surface and easy to operate. IANELOEHE -
4. Low spring force to avoid breakage of small end mill and 215 Z0.005m/m °
drill. 3MT2UMS#,1.5VER 2S5t - (20L,32L)
5.Easy to be calibrated by a ground parallel or gauge (32 / 20LB.20SHi1MUMS#,12VER 1452 |5t )
7Z0V-50 block.
6.Better parallelism, sensitivity, and precision for use. A BES/INENSERNESLEER
Notice to use of optical edge finder, that is not suitably used for rotary.
B{T7/Unit:mm
EE{TI/Unit:mm T
ORDER NO. TYPE RE.D REL AgA.d WE,%'F\% kgs E}%{,
ORDER NO. TYPE HEIGHT WE%‘,\_"\# kas @L é%WR ,_;j
9 XWX 08420120 SOE-20S 200 120 100 0.3 200 x 72 x45
+0.008
08420551 ZIP-50 505 1.08kgs 110 x 100 x 80 08420020 SOE-20L 200 158 100 0.36 200 x 72 x45
0.008
08420552 ZOV-50 50 3 1.66kgs 180 x 100 x 70 08420021 SOE-20LB 200 158 100 0.36 200 x 72 x45
08420553 ZIP-50A 50 :"(?-005 1.22kgs 110 x 100 x 80 08420032 SOE-32L 320 158 100 0.64 200 x 72 x45
08420554 ZIP-100 100 #9005 1.56kgs 160 x 120 x 76 08420033 SOE-32LB 320 158 100 0.64 200 x 72 x45

20 21



BILEEEE Ll t=sti=ten

MACHANICAL EDGE FINDER CERAMIC EDGE FINDER

MACHANICAL EDGE FINDER

SME-420 TN-10 SME-420ST

CER-10

//Zé‘
\ =
FAE (ACCURACY) : *0.002 / MEP-420

SME-1020 SME-610 TN-410 SME-1020ST

@ 5 E:

« 1OmmBYE R O] 24 FAL I ZREEEN 4 R0 (S-S E 1)

s SEAFIEE BB ESHVELE - fFERIN0.5Smm(2EE2)

- EEL 400-600rpmHVREZEES) -

« U0(B2)FafERIE S L300 T WHVisk B8 168 - — Bh—BOHhhlAsfsE) » piE%e
BRUN(E3)Fm » AIEFNEBIRED - SEUlEF IEHVARREIEE » LIS HIMOELG R
TS ENHVEE - BIEFFEW(E4)FTT » BIBE—ENSEBE) - E@BE)
EBLTL R ES RV ESENIE -

« NI T ARBHIRELIE » Pl DAIEFHESmmIVEIELE

FEATURES

1. @10mm straight shank can be installed directly on milling chuck or drilling chuck.
(refer to Fig.1).

2. Press slightly on edge of sensor unit with hands to keep eccentricity at 0.5mm
(refer to Fig. 2).

3. Rotate with speed of 400-600 rpm.

4. Make sensor unit contact to the end face of workpiece shown as Fig. 2. Then,
contact and move gradually, it is going to turn into Fig. 3 and sensor unit keeps
still. Furthermore, if fine feed is started, then sensor unit will move according to a
specific direction. The start point of this movement is the basis position to look for.

5. The position of end face of the workpiece is the coordinate position of sensor unit
plus radius 5mm.

Steel:Cr-Mo, Alloy Steel (%38 ) HRC:58° B8{17/Unit:mm
G.W. BERY
ORDER NO. TYPE weight kgs T
08400610 SME-610 0.04 95 x 26 x 26 “MEPE : EEREHIISN « SiREESBE oM E
H N S ’ 1) =
08400420 SME-420 0.07 95 x 26 x 26 P _T_‘;PE’\Th = o AU o o et o wholl
: The mep type is nonmagnetic, and the front tip wholly
08401020 SME-1020 0.07 95 x 26 x 26 made of ceramic.
Material by Stainless Steel(“~ 3% il ) HRC:60° B8{7/Unit:mm Ceramic[[8&] HV:1350° ES{Y7/Unit:mm
0 FEEE G.W. BERY G.W. BERY
|E7EREmGmEi . 22)@R8E ORDER NO. TYPE weight kgs LxW x H ORDERNO. | TYPE weight kgs LxW x H
/P SEPIIICEE © 08410420 SME-420ST 0.07 95 x 26 x 26
3.(FEMAE - EEEBE600rpm © 4. T EIATERE 08420010 MEP-10 0.06kgs 120 x 45 x 25
ZUHIREsE (R - 08411020 SME-1020ST 0.07 95 x 26 x 26 N =5 =
E= JHIAE
. ORDER NO. TYPE Shank Dia. Length Pr/obe Dia.
Cautions TNEL: BEERE L - BEEHV 2500°
1. Do not use the bend part or to drag or pull with TN Type: The mep type is nonmagnetic HV 2500° E5{T7/Unit:mm 08420011 CER-10 10 84 @10 X 15L
force.
G.W. BERY
2. Never let impurities or foreign things stain on the ORDER NO. TYPE weight kgs LxW xH e | MEP-1020 S 8 -
slide face.
3. While using, be sure the speed not over 600rpm. 08401100 TN-10 0.08 120 x 45 x 25 08420013 MEP-420 10/4 @4 X10L
4. Never apply it on machine of horizontal type. 08401410 TN-410 0.08 120 x 45 x 25

22 23



AN

MILLING CHUCK

A 3% 3K B8

MILLING CHUCK

O o
v i TAPER NO.
L L [ 3
BLIBEBIE: Use a milling chuck for :
o HUDHITN "B " 2 1RIF ® Rough milling or "hogging" operations.
® HLATELL"360°"IMEKTE - EERTIES6 ® Improved tool life over regular end-mill holders "360°"
e RINETE0.005F0.01mm2E » BEIER IR gripping contact.
ShRESRER ® 0.005mm-0.01mm TIR for maximum tool life and
accuracy.
B3{i/Unit:mm
HREYSE/ TAPER NO. d D L B S%/TYPE
BT/NT30 20 54 75 c20
BT/NT40 20 54 105 Cc20
BT/NT40 32 72 105 c32
BT/NT50 32 72 105 c32
BT/NT50 42 92 15 c42

24



EREIEEE IR DR KPU . JTABZZE D15

ER SPRING COLLET CHUCK SYSTEM KPU CNC DRILL CHUCK

@0

BS{T7/Unit:mm
8 18/PART NO. @D L #3 18/PART NO. @D L
BT30-KPU08-80 37 80 BT50-KPU08-95 37 95
-KPU13-100 50 100 -KPU13-120 50 120
BT40-KPU08-85 37 85 -KPU13-180 50 180
-KPU13-110 50 110 -KPU16-130 58 130
-KPU16-120 58 120 -KPU16-180 58 180

B {T/Unit:mm . CNC DRILL CHUCK

R 18/PART NO. TAPER COLLET @D L #] 18/PART NO. TAPER COLLET @D L

BT30-ER11-60 BT30 ER1 19 60 -ER25-100 BT40 ER25 42 100
-ER11-100 BT30 ER11 19 100 -ER25-150 BT40 ER25 42 150
-ER16-60 BT30 ER16 28 60 -ER32-70 BT40 ER32 50 70 JTNG f
-ER16-100 BT30 ER16 28 100 -ER32-100 BT40 ER32 50 100 ' ’ i
-ER20-60 BT30 ER20 34 60 -ER32-150 BT40 ER32 50 150 5
-ER20-100 BT30 ER20 34 100 -ER40-80 BT40 ER40 63 80
-ER25-60 BT30 ER25 42 60 BT50-ER16-100 BT50 ER16 28 100 ! t
-ER32-60 BT30 ER32 50 60 -ER16-150 BT50 ER16 28 150 L L Lo
-ER40-70 BT30 ER40 63 70 -ER20-100 BT50 ER20 34 100

BT40-ER11-70 BT40 ER11 19 70 -ER20-150 BT50 ER20 34 150
-ER11-100 BT40 ER1 19 100 -ER25-100 BT50 ER25 42 100
-ER16-70 BT40 ER16 28 70 -ER25-150 BT50 ER25 42 150 8 {i/Unit:mm
-ER16-100 BT40 ER16 28 100 -ER32-100 BT50 ER32 50 100 = JATRE APEr laol L1 L1 e JATRE Arer Lol L | L1
-ER16-150 BT40 ER16 28 150 -ER32-150 BT50 ER32 50 150 PART NO. |JAT DRLL CHUCK PART NO. |JAT DRLL CHUCK
-ER20-70 BT40 ER20 34 70 -ER32-200 BT50 ER32 50 200 BT40-JTA1-045 JTA1 1/12.9718 | 30 |45|17.462  BT50-JTA1-045 JTA1 1/12.9718| 30 | 45 |17.462
-ER20-100 BT40 ER20 34 100 -ER40-100 BT50 ER40 63 100 -JTA2-045 JAT2 1/12.2624 | 30 |45|19.844 -JTA2-045 JTA2 1/12.2624 | 30 | 45 |19.844
-ER20-150 BT40 ER20 34 150 -ER40-150 BT50 ER40 63 150 -JTA6-045 JTA6 1/19.2641 | 30 | 45|26.194 -JTA6-045 JTA6 1/19.2641| 30 | 45 |26.194
-ER25-70 BT40 ER25 42 70 -ER40-200 BT50 ER40 63 200 -JTA6-090 JTAG6 1/19.2641 | 30 |90 | 26.194 -JTA6-105 JTA6 1/19.2641| 30 [105|26.194

25 26



FHIA - FHB - FHCE &6 0 i MTA . HTBEZESEEE D

FACE MILL HOLDER MORSE TAPER HOLDER

EMAN=M BV YIS SANIYI 5!

s 84>
*._ )
\G v | _
- H L
MTB MTA
B5{TI/Unit:mm
# 1&/PARTNO. | @C | @D | L |[H| A G R #®/PARTNO. | @C | @D | L H | A G
BT30-FMA25.4-50 254 | 50 |50 (20| 9.5 |M12x1.75P BT50-FMB22-45 22 | 60 | 45 | 18 | 10 | M10x1.5P e L o
BT40-FMA25.4-45 254 | 50 |45 (20| 9.5 |M12x1.75P -FMB22-75 22 | 48 | 75 | 18 | 10 | M10x1.5P | N
-FMA25.4-90 254 | 50 |90 (20| 9.5 |M12x1.75P -FMB22-105 | 22 | 48 | 105 | 18 | 10 | M10x1.5P ISR | ‘ | |
-FMA31.75-45 | 31.75 | 60 | 45 (22| 12.7 |M16x2.0P -FMB22-150 | 22 | 48 | 150 | 18 | 10 | M10x1.5P — 1 4
-FMA31.75-90 | 31.75 | 60 | 90 |22| 12.7 |M16x2.0P -FMB27-45 27 | 70 | 45 | 20 | 12 | M12x1.75P o
-FMA38.1-60 38.1 74 | 60 |25| 15.9 | M20x2.5P -FMB27-75 27 | 60 | 75 | 20 | 12 | M12x1.75P l | LG,’L'; JA “
BT50-FMA25.4-45 | 25.4 | 62 |45 (20| 9.5 |M12x1.75P -FMB27-105 | 27 | 60 | 105 | 20 | 12 | M12x1.75P — [ . -y 0w
-FMA25.4-75 254 | 50 |75 (20| 9.5 |M12x1.75P -FMB27-150 | 27 | 60 | 150 | 20 | 12 | M12x1.75P T -f| - | S MT. NO
-FMA25.4-105 | 25.4 | 50 |105/20| 9.5 |M12x1.75P -FMB32-45 32 | 75 | 45 | 22 | 14 | M16x2.0P —
-FMA25.4-150 | 25.4 | 50 |150(20| 9.5 |M12x1.75P -FMB32-75 32 | 80 | 75 | 22 | 14 | M16x2.0P
-FMA31.75-45 | 31.75 | 70 | 45 |22| 12.7 |M16x2.0P -FMB32-105 | 32 | 80 | 105 | 22 | 14 | M16x2.0P B3 {T1/Unit:mm
-FMA31.75-75 | 31.75 | 60 | 75 |22| 12.7 |M16x2.0P -FMB32-150 | 32 | 80 | 150 | 22 | 14 | M16x2.0P #2 18/PART NO. M.T. NO. @D L G R 18/PART NO. M.T. NO. @D L G
-FMA31.75-105| 31.75 | 60 |105|22| 12.7 |M16x2.0P -FMB40-75 40 | 85 | 75 | 26 | 16 | M20x2.5P BT30-MTA1-45 MTA1 25 45 BT50-MTA3-150 MTA3 40 150
-FMA31.75-150| 31.75 | 60 |150|22| 12.7 |M16x2.0P BT30-FMC22-45 22 | 48 | 45 | 18 | 10 | M10x1.5P -MTA2-60 MTA2 32 60 -MTA4-75 MTA4 48 75
-FMA38.1-45 38.1 80 | 45 |25| 15.9 |M20x2.5P BT40-FMC22-45 22 | 48 | 45 | 18 | 10 | M10x1.5P BT40-MTA1-50 MTA1 25 50 -MTA4-180 MTA4 48 180
-FMA38.1-75 38.1 80 | 75|25| 15.9 | M20x2.5P -FMC22-90 22 | 48 | 90 | 18 | 10 | M10x1.5P -MTA1-120 MTA1 25 120 -MTA5-105 MTA5 63 105
-FMA50.8-45 50.8 | 100 | 45 |25|19.05|M24x3.0P -FMC27-45 27 | 60 | 45 | 20 | 12 | M12x1.75P -MTA2-50 MTA2 32 50 BT30-MTB1-45 MTB1 25 45 M6
-FMA50.8-75 50.8 | 100 | 75 |25|19.05|M24x3.0P -FMC27-90 27 | 60 | 90 | 20 | 12 | M12x1.75P -MTA2-120 MTA2 32 120 -MTB2-60 MTB2 32 60 M10
-FMA47.625-75 | 47.625|128.57 | 75 | 18| 25.4 | M24x3.0P -FMC32-45 32 | 62 | 45 | 22 | 14 | M16x2.0P -MTA3-75 MTA3 40 75 BT40-MTB1-45 MTB1 25 45 M6
BT30-FMB22-45 22 48 | 45 (18| 10 |M10x1.5P BT50-FMC22-45 22 | 60 | 45 | 18 | 10 | M10x1.5P -MTA3-135 MTA3 40 135 -MTB2-45 MTB2 32 45 M10
-FMB27-45 27 60 | 45|20 12 |M12x1.75P -FMC22-105 | 22 | 48 | 105 | 18 | 10 | M10x1.5P -MTA4-95 MTA4 48 95 -MTB3-75 MTB3 40 75 M12
BT40-FMB22-45 22 48 | 45 (18| 10 |M10x1.5P -FMC22-150 | 22 | 48 | 150 | 18 | 10 | M10x1.5P -MTA4-165 MTA4 48 165 -MTB4-75 MTB4 48 75 M16
-FMB22-90 22 48 | 90 |18| 10 |M10x1.5P -FMC27-45 27 | 70 | 45 | 20 | 12 | M12x1.75P BT50-MTA1-45 MTA1 25 45 BT50-MTB1-45 MTB1 25 45 M6
-FMB27-45 27 60 |45 20| 12 |M12x1.75P -FMC27-105 | 27 | 60 | 105 | 20 | 12 | M12x1.75P -MTA1-120 MTA1 25 120 -MTB2-45 MTB2 32 45 M10
-FMB27-90 27 60 | 90 |20| 12 |M12x1.75P -FMC27-150 | 27 | 60 | 150 | 20 | 12 | M12x1.75P -MTA2-50 MTA2 32 50 -MTB3-60 MTB3 40 60 M12
-FMB32-45 32 62 | 45 (22| 14 |M16x2.0P -FMC32-45 32 | 75 | 45 | 22 | 14 | M16x2.0P -MTA2-135 MTA2 32 135 -MTB4-75 MTB4 48 75 M16
BT40-FMB40-60 40 85 |60 26| 16 |M20x2.5P -FMC32-105 | 32 | 80 | 105 | 22 | 14 | M16x2.0P -MTA3-65 MTA3 40 65 -MTB5-120 MTB5 63 120 M20

27 28



SLEIE = ihid e J0) i

SIDE LOCK END MILL HOLDER

STRAIGHT SHANK WER TAPPING ATTACHMENT

SL

= EfREIFETN - Straight Shank Side-Lock Type

f FI;’V////////// f

1 W/ﬁ}@///%

L

-

E8S{i7/Unit:mm

m— HIEANE
C i A -
L Fa é
\ NU— | ‘ J. b |
‘ Ly
I
BS{T[/Unit:mm
# AB/PART NO. | @D | @D1 L |L1|H1|H2 G # 1&/PART NO. | @D | @D1 L |L1|H1T|H2 G
BT30--SLES8 -60 8 28 60 | 35 | 14 | 12 | M8x1.25 BT50-SLE8 -90 8 28 90 | 35 | 14 | 12 | M8x1.25
-SLE10-60 10 35 60 | 40 | 15 | 14 | M8x1.25 -SLE10-90 10 35 90 | 40 | 15 | 14 | M8x1.25
-SLE12-60 12 42 60 | 50 | 20 | 16 | M12x1.5 -SLE12-90 12 42 90 | 50 | 20 | 16 | M12x1.5
-SLE16-75 16 48 75|60 | 20 | 18 | M12x1.5 -SLE14-90 14 44 90 | 55 | 20 | 16 | M12x1.5
-SLE20-75 20 52 75|70 | 23 | 19 | M12x1.5 -SLE16-90 16 48 90 | 60 | 20 | 18 | M12x1.5
BT40-SLE8 -75 8 28 75|35 | 14 | 12 | M8x1.25 -SLE16-150 16 48 150 | 60 | 20 | 18 | M12x1.5
-SLE10-75 10 35 75|40 | 15 | 14 | M8x1.25 -SLE18-90 18 50 90 | 60 | 20 | 18 | M12x1.5
-SLE12-75 12 42 75|50 | 20 | 16 | M12x1.5 -SLE20-105 20 52 105 | 70 | 283 | 19 | M12x1.5
-SLE14-75 14 44 75|50 | 20 | 16 | M12x1.5 -SLE20-150 20 52 150 | 70 | 23 | 19 | M12x1.5
-SLE16-75 16 48 75|60 | 20 | 18 | M12x1.5 -SLE25-105 25 65 105 | 80 | 24 | 25 | M18x1.5
-SLE18-75 18 50 75|60 | 20 | 18 | M12x1.5 -SLE25-150 25 65 150 | 80 | 24 | 25 | M18x1.5
-SLE20-90 20 52 90 | 70 | 23 | 19 | M12x1.5 -SLE32-105 32 72 105 | 80 | 24 | 28 | M20x1.5
-SLE25-90 25 62 90 [ 80 | 24 | 25 | M18x1.5 -SLE32-150 32 72 150 | 80 | 24 | 28 | M20x1.5
-SLE32-90 32 63 90 | 80 | 24 | 28 | M20x1.5 -SLE40-120 40 90 120 | 90 | 30 | 32 | M20x1.5
-SLE40-105 40 79 105 | 80 | 24 | 28 | M20x1.5 -SLE42-120 42 90 120 | 90 | 30 | 32 | M20x1.5
-SLE42-105 | 42 79 105 | 80 | 24 | 28 | M20x1.5 -SLE50.8-105| 20.8 | 95 105 | 80 | 35 | 25 | M20x1.5

29

48 4B/PART NO. D1 L D2 & 5R4ERI /COOLET TYPE BLFAE7 / TAPPING CAPACITY
SL20-WER16-80 20 80 28 ER16 M3-M10
SL20-WER20-80 20 80 34 ER20 M3-M13
SL25-WER16-80 25 80 28 ER16 M3-M10
SL25-WER20-80 25 80 34 ER20 M3-M13
SL25-WER25-80 25 80 42 ER25 M3-M16
SL32-WER25-80 32 80 42 ER25 M3-M16
SL32-WER32-80 32 80 50 ER32 M3-M20
CEFHE T
C-20, 25, 32, 42 STRAIGHT COLLETS
#% #8/PARTNO. | @D | D1 | L _ | =
c20 20 235 | 60 X
c32 32 370 | 70
1
C42 42 47.0 78 j _
48 13/PART NO. SIZE/d #8 13/PART NO. SIZE/d %8 18/PART NO. SIZE/d
C20-6 6 C326 6 C42-6 6
C20-8 8 C32-8 8 C42-8 8
C20-10 10 C32-10 10 C42-10 10
C20-12 12 C32-12 12 C42-12 12
C20-16 16 C32-14 14 C42-16 16
C32-16 16 C42-20 20
C25-6 6 C32-20 20 C42-25 25
C25-8 8 C32-25 25 C42-32 32
C25-10 10 C32-1/4 174 Cao-1/4" 174
C25-12 12 C32-5/16" 516" C42-5/16" 516"
C25-16 16 C32-3/18" 3/18” C42-3/18" 3/18”
C25-20 20 C32-1/2° 172 C42-1/2" 72
C32-5/8" 5/8" C42-5/8 5/8"
C32-3/ 4" 3/ 4 Ca2-3/4 34
C32-7/8 7/8" C42-7/8 7/8
C32-1" 1 Ca2-1" 17
C42-1-1/2” 1-1/2”

30



EREAREEIST

ER SPRING COLLETS

EREEIE [FI 28

ER SPRING COLLETS

e
5/
of ___————f .
I B =
! .
8 =
2
L)
T e ¥
- L Ll
MMB/PARTNO.| DO | D1 | L  #E8/PARTNO.] DO |D1| L  ##E/PARTNO.| D@ |Di1| L #88/PARTNO.] D@ |D1| L
ER11-010 |1.0~0.5(11.5/18.0 ER16-100 | 10.0~9.0 [17.0[27.0 ER25-090 | 9.0~8.0 [26.0/35.0  ER40-090 | 9.0~8.0 |41.0|46.0
-015 |1.5~1.0|11.5/18.0 = ER20-020 | 2.0~1.0 [21.0/31.0 -100 | 10.0~9.0 [26.0(35.0 -100 | 10.0~9.0 [41.0/46.0
-020 |2.0~1.5|11.5|18.0 -025 | 2.5~1.5 [21.031.0 -110 {11.0~10.0/26.0/35.0 -110 |11.0~10.0|41.0/46.0
-025 |2.5~2.0|11.5(18.0 -030 | 3.0~2.0 [21.031.0 -120 |12.0~11.0(26.0(35.0 -120 |12.0~11.0|41.0/46.0
-030 |3.0~2.5|11.5(18.0 -035 | 3.5~2.5 [21.031.0 -130 |13.0~12.0(26.0(35.0 -130 |13.0~12.0|41.0/46.0
-035 |3.5~3.0|11.5(18.0 -040 | 4.0~3.0 [21.031.0 -140 |14.0~13.0(26.0(35.0 -140 |14.0~13.0|41.0/46.0
-040 |4.0~3.5|11.5(18.0 -045 | 45~3.5 [21.031.0 -150 |15.0~14.0(26.0(35.0 -150 |15.0~14.0|41.046.0
-045 |4.5~4.0|11.5(18.0 -050 | 5.0~4.0 [21.0/31.0 -160 [16.0~15.0/26.0/35.0 -160 |16.0~15.0/41.0|46.0
-050 |5.0~4.5|11.5|18.0 -055 | 5.5~4.5 [21.0(31.0 ER32-030 | 3.0~2.0 |33.0/40.0 170 |17.0~16.041.0/46.0
-055 |5.5~5.0|11.5|18.0 -060 | 6.0~5.0 [21.0/31.0 -040 | 4.0~3.0 |33.0/40.0 -180 [18.0~17.0/41.0|46.0
-060 |6.0~5.5|11.5|18.0 -065 | 6.5~5.5 [21.0/31.0 -050 | 5.0~4.0 |33.0/40.0 -190 |19.0~18.0/41.0|46.0
-065 |6.5~6.0|11.5(18.0 -070 | 7.0~6.0 [21.0[31.0 -060 | 6.0~5.0 (33.0/40.0 -200 |20.0~19.0/41.0|46.0
-070 |7.0~6.5|11.5|18.0 -075 | 7.5~6.5 [21.0/31.0 -070 | 7.0~6.0 |33.0/40.0 210 |21.0~20.0/41.0|46.0
ER16-010 |1.0~0.5|17.0|27.0 -080 | 8.0~7.0 [21.031.0 -080 | 8.0~7.0 (33.0/40.0 -220 |22.0~21.0|41.0/46.0
-015 |1.5~0.5/17.0|27.0 ER20-085 | 8.5~7.5 |21.0/31.0 -090 | 9.0~8.0 (33.0/40.0 -230 |23.0~22.0|41.0/46.0
-020 |2.0~1.0|17.0|27.0 -090 | 9.0~8.0 [21.0(31.0 -100 | 10.0~9.0 (33.0/40.0 -240 |24.0~23.0|41.0/46.0
-025 |2.5~1.5|17.0|27.0 -095 | 9.5~8.5 [21.0(31.0 -110 {11.0~10.0/33.0/40.0 -250 |25.0~24.0|41.0/46.0
-030 |3.0~2.0|17.0|27.0 -100 | 10.0~9.0 [21.0(31.0 -120 |12.0~11.0(33.0/40.0 -260 |26.0~25.041.0/46.0
035 |3.5~2.5|17.0|27.0 -105 | 10.5~9.5 [21.0(31.0 -130 | 13~12.0 [33.0/40.0  ER50-140 |14.0~12.0/52.0(60.0
-040 |4.0~3.0/17.0|27.0 -110 [11.0~10.0(21.0/31.0 -140 [14.0~13.0/33.0/40.0 -160 |16.0~14.0/52.0|60.0
-045 |4.5~3.5|17.0|27.0 -115 |11.5~10.5/21.0/31.0 -150 |15.0~14.0/33.0/40.0 -180 |18.0~16.0/52.0|60.0
-050 |5.0~4.0|17.0|27.0 -120 {12.0~11.0|21.0/31.0 -160 [16.0~15.0/33.0/40.0 -200 |20.0~18.0/52.0|60.0
-055 |5.5~4.5|17.0|27.0 -125 |12.5~11.5/21.0/31.0 -170 |17.0~16.0/33.0/40.0 -220 |22.0~20.0/52.0|60.0
-060 |6.0~5.0|17.0(27.0 -130 |13.0~12.021.0(31.0 -180 |18.0~17.0(33.0|40.0 -240 |24.0~22.0|52.0/60.0
-065 |6.5~5.5/17.0|27.0 ER25-020 | 2.0~1.0 |26.0/35.0 -190 19.0~18.0(33.0|40.0 -260 |26.0~24.0|52.0/60.0
-070 |7.0~6.0|17.0|27.0 -030 | 3.0~2.0 [26.0(35.0 -200 |20.0~19.0(33.0|40.0 -280 |28.0~26.0|52.0/60.0
-075 |7.5~6.5|17.0|27.0 -040 | 4.0~3.0 [26.0[35.0 ER40-040 | 4.0~3.0 |41.0/46.0 -300 |30.0~28.0|52.0/60.0
-080 |8.0~7.0|17.0(27.0 -050 | 5.0~4.0 [26.0(35.0 -050 | 5.0~4.0 |41.0/46.0 -320 |32.0~30.0|52.0/60.0
-085 |8.5~7.5|17.0|27.0 -060 | 6.0~5.0 [26.0(35.0 060 | 6.0~5.0 |41.0/46.0 -340 |34.0~32.0|52.0/60.0
-090 |9.0~8.0|17.0|27.0 -070 | 7.0~6.0 |26.0/35.0 -070 | 7.0~6.0 |41.0/46.0
-095 |9.5~8.5|17.0|27.0 -080 | 8.0~7.0 |26.0/35.0 -080 | 8.0~7.0 |41.0/46.0

31

32



BHFFRIEHE SRS

BHF FINE BORING SYSTEMS

CKIE L0

CK BORING HEAD SHANK (BT)

P
| =]

b

BHF i 45 2 8 28
BHF SMALL DIAMETER MICRO BORING HEAD

L1

—

BRMITREA

-

B

(SIS ]s

BT IR
BT BORING HEAD SHANK

L

-

BRMIEEA

Fg1
cK Not\ BHFE5E
L
L1 |
Jm\frﬂ <—ﬁﬂu|“l—£&>7
o e o
Fg2 s ©
e | N1 -
9 le/-L'_J( CK NO.\_ BHFIESA
B {i/Unit:mm
¥51E88 Boring Heads 7)12 #3148 Shanks | #E3L&8E Boring Range| Fg A oD L
BHF.19 BT30-CK1-070 920 ~ ¢ 26 2 65 19 105
BT30-CK2-040 50 75
BHF.24 085 925~ ¢33 1 85 24 115
BT30-CK3-040 N 50 80
BHF.31 2080 932~ ¢42 1 85 31 115
BT30-CK4-040 60 85
BHF.50 BT30-CK5-065 953~ 670 1 90 50 120
BT40-CK1-075 1 70 100
BHF.19 -120 920 ~ ¢ 26 2 72 19 150
-170 200
BT40-CK2-085 1 83 115
BHF.24 -125 925~ ¢33 2 88 24 160
-170 210
BT40-CK3-095 1 103 135
BHF.31 -150 932~ 942 2 98 31 190
-200 240
BT40-CK4-090 1 135
BHF.39 -145 941 ~ 954 2 103 39 190
-195 240
BT40-CK5-080 103 135
BHF.50 -135 53~ ¢70 1 140 50 190
-185 150 240
BT40-CK6-065 103 135
BHF.64 -120 68~ ¢ 100 1 158 64 190
-170 208 240
BT40-CK6-065 103 135
BHF.90 -120 »100 ~ ¢ 153 1 158 64 190
-170 208 240
BT50-CK1-105
BHF.19 -170 920~ ¢26 2 72 19
-220
BT50-CK2-115 1
BHF.24 -175 925~ ¢33 2 100 24
-225
BT50-CK3-125 1 113
BHF.31 %28 932~ ¢42 2 120 31
BT50-CK4-120 1 120 165
BHF.39 -195 941 ~ ¢54 2 127 39 240
-235 280
BT50-CK5-110 120 165
BHF.50 -183 53~ 970 1 190 50 240
-228 230 280
BT50-CK6-095 125 165
BHF.64 -170 68 ~ 100 1 200 64 240
-210 240 280
BT50-CK6-095 125 165
BHF.90 -170 9100 ~ ¢ 153 1 200 64 240
-210 240 280

32

FERAMRETIE - TIEIGRAFERE - fl20 © REDTIBIERE -

When using longer shanks please change the cutt ng condition.

B LEIRES

777777777777777777 Fg1
m BUSEEHER Fg2
BT3 olflclK 1-[105]
CK NO
BTHEIRIA ES{T7/Unit:mm
Fays = 7
B RTYPE i Shanes | BAFRER No. - L1 | ep1 | MTRE | A Fie. | mmtw

BT30-BHF20-105 | BT30-CK1-070 | BHF 20-36CKB1 1 | 104.5 | 72 19 20-26 73 1
BT30-BHF25-075 | BT30-CK2-040 | BHF 25-47CKB2 2 75 40 24 25-33 50 2
BT30-BHF25-120 -085 | BHF 25-47CKB2 2 | 118 80 24 25-33 93 2
BT30-BHF32-080 | BT30-CK3-040 | BHF 32-60CKB3 3 80 40 31 32-42 55 2
BT30-BHF32-120 -080 | BHF 32-60CKB3 3 | 119 75 31 32-42 93 2
BT30-BHF41-085 | BT30-CK4-040 | BHF 41-74CKB4 4 85 38 39 41-54 55 2
BT30-BHF41-120 -075 |BHF 41-T4CKB4 4 | 119 73 39 41-54 93 2
BT30-BHF52-120 | BT30-CK5-065 | BHF 53-95CKB5 5 | 120 63 50 53-70 93 2
BT40-BHF20-105 | BT40-CK1-075 | BHF 20-36CKB1 1 11045 | 72 19 20-36 73 1
BT40-BHF20-150 -120 | BHF 20-36CKB1 1 150 118 19 20-36 120 1
BT40-BHF20-200 -170 | BHF 20-36CKB1 1 200 168 19 20-36 170 1
BT40-BHF25-120 | BT40-CK2-085 | BHF 25-47CKB2 2 | 118 | 825 24 25-33 88 2
BT40-BHF25-160 -125 | BHF 25-47CKB2 2 | 160 125 24 25-33 130 2
BT40-BHF25-210 -170 | BHF 25-47CKB2 2 | 210 175 24 25-33 180 2
BT40-BHF32-135 | BT40-CK3-095 | BHF 32-60CKB3 3 | 134 94 31 32-42 103 2
BT40-BHF32-190 -150 | BHF 32-60CKB3 3 | 190 150 31 32-42 160 2
BT40-BHF32-240 -200 | BHF 32-60CKB3 3 | 240 200 31 32-42 | 210 2
BT40-BHF41-135 | BT40-CK4-090 | BHF 41-74CKB4 4 | 135 88 39 41-54 103 2
BT40-BHF41-190 -145 |BHF 41-T4CKB4 4 | 190 143 39 41-54 160 2
BT40-BHF41-240 -195 |BHF 41-T4CKB4 4 | 240 193 39 41-54 | 210 2
BT40-BHF53-135 | BT40-CK5-080 | BHF 53-95CKB5 5 | 135 78 50 53-70 103 2
BT40-BHF53-190 -135 | BHF 53-95CKB5 5 | 190 133 50 53-70 160 2
BT40-BHF53-240 -185 | BHF 53-95CKB5 5 | 240 183 50 53-70 | 210 2
BT40-BHF68-135 | BT40-CK6-065 | BHF 68-150CKB6 | 6 | 135 64 64 68-100 | 103 2
BT40-BHF68-190 -120 |BHF 68-150CKB6 | 6 | 190 119 64 68-100 | 160 2
BT40-BHF68-240 -170 |BHF 68-150CKB6 | 6 | 240 169 64 68-100 | 210 2
BT40-BHF100-135 -065 | BHF 100-203CKB6| 6 | 135 64 64 100-53 | 103 2
BT40-BHF100-190 -120 | BHF 100-203CKB6| 6 | 190 119 64 100-53 | 160 2
BT40-BHF 100-240 -170 | BHF 100-203CKB6| 6 | 190 169 64 100-53 | 210 2
BT50-BHF20-135 | BT50-CK1-105 | BHF 20-36CKB1 1 | 1345 | 102 19 20-36 - 1
BT50-BHF20-200 -170 | BHF 20-36CKB1 1 200 168 19 20-36 - 1
BT50-BHF20-250 -220 | BHF 20-36CKB1 1 250 218 19 20-36 - 1
BT50-BHF25-150 | BT50-CK2-115 | BHF 25-47CKB2 2 | 148 | 112.5 24 25-33 - 2
BT50-BHF25-210 -175 | BHF 25-47CKB2 2 | 210 175 24 25-33 - 2
BT50-BHF25-260 -225 | BHF 25-47CKB2 2 | 260 225 24 25-33 - 2
BT50-BHF32-165 | BT50-CK3-125 | BHF 32-60CKB3 3 | 164 124 31 32-42 - 2
BT50-BHF32-240 -200 | BHF 32-60CKB3 3 | 240 200 31 32-42 - 2
BT50-BHF32-280 -240 | BHF 32-60CKB3 3 | 280 240 31 32-42 - 2
BT50-BHF41-165 | BT50-CK4-120 | BHF 41-7T4CKB4 4 | 165 118 39 41-54 73 2
BT50-BHF41-240 -195 |BHF 41-T4CKB4 4 | 240 193 39 41-54 122 2
BT50-BHF41-280 235 |BHF 41-T4CKB4 4 | 280 233 39 41-54 182 2
BT50-BHF53-165 | BT50-CK5-110 | BHF 53-95CKBb 5 | 165 108 50 53-70 122 2
BT50-BHF53-240 -183 | BHF 53-95CKB5 5 | 240 183 50 53-70 122 2
BT50-BHF53-285 -228 |BHF 53-95CKB5 5 | 285 228 50 53-70 182 2
BT50-BHF68-165 | BT50-CK6-095 | BHF 68-150CKB6 | 6 | 165 94 64 68-100 | 122 2
BT50-BHF68-240 -170 |BHF 68-150CKB6 | 6 | 240 169 64 68-100 | 197 2
BT50-BHF68-280 -210 |BHF 68-150CKB6 | 6 | 280 209 64 68-100 | 222 2
BT50-BHF100-165 -095 |BHF 100-203CKB6| 6 | 165 94 64 100-53 | 122 2
BT50-BHF100-240 -170 | BHF 100-203CKB6| 6 | 240 169 64 100-53 | 197 2
BT50-BHF100-280 -210 | BHF 100-203CKB6| 6 | 280 209 64 100-53 | 237 2

[e]

1.ERPLHR T 2R EBHFEEERNEEE -
285 FYETARF AR5 M ELEE)E S A R RSN -

3R EIDIEIRIFEHEHOLAR -

1.Dimension

“Wr

in the above chart is the reference value for fitting the shank on
the BHF boring head.
2.The direction of boring insert must be same as spindle rotation direction.

3.All of the broing head shanks standard specification is made for inner cooling.

33



BRFSEIESRI

BHF FINE BORING SYSTEMS

THESRI

BORING SYSTEMS

(SIKEASIKEDTNEGEY 10,

B3{T7/Unit:mm

HEARS 1
R L Trr e e I M R N N il
SK30-BHF20-100 | SK30-CK1-070 | BHF 20-36CKB1 1 /1015 | 69 19 20-26 73 1
SK30-BHF25-115 SK30-CK2-080 | BHF 25-47CKB2 2 115 80 24 25-33 93 2
SK30-BHF32-115 | SK30-CK3-075 | BHF 32-60CKB3 3 | 115 72 31 32-42 93 2
SK30-BHF41-115 | SK30-CK4-070 | BHF 41-74CKB4 4 116 65 39 41-54 93 2
SK30-BHF52-115 | SK30-CK5-060 | BHF 53-95CKB5 5 116 55 50 53-70 93 2
SK40-BHF20-100 | SK40-CK1-070 | BHF 20-36CKB1 1 100 67 19 20-36 73 1
SK40-BHF25-115 | SK40-CK2-080 | BHF 25-47CKB2 2 | 113 78 24 25-33 88 2
SK40-BHF32-130 | SK40-CK3-090 | BHF 32-60CKB3 3 129 89 31 32-42 88 2
SK40-BHF41-130 | SK40-CK4-085 | BHF 41-74CKB4 4 130 83 39 41-54 103 2
SK40-BHF53-130 | SK40-CK5-075 | BHF 53-95CKB5 5 | 130 73 50 53-70 103 | 2
SK40-BHF68-130 | SK40-CK6-060 | BHF 68-150CKB6 | 6 | 130 59 64 68-100 | 103 | 2
SK40-BHF100-130| SK40-CK6-060 | BHF 100-203CKB6| 6 130 59 64 100-53 | 103 | 2
SK50-BHF20-115 | SK50-CK1-085 | BHF 20-36CKB1 1 115 83 19 20-26 - 1
SK50-BHF25-130 | SK50-CK2-095 | BHF 25-47CKB2 2 | 133 93 24 25-33 B 2
SK50-BHF32-145 | SK50-CK3-105 | BHF 32-60CKB3 3 | 145 105 31 32-42 - 2
SK50-BHF41-145 | SK50-CK4-100 | BHF 41-74CKB4 4 | 146 99 39 41-54 73 2
SK50-BHF41-205 | SK50-CK4-160 | BHF 41-74CKB4 4 | 206 159 39 41-54 107 | 2
SK50-BHF53-145 | SK50-CK5-090 | BHF 53-95CKB5 5 | 146 89 50 53-70 122 | 2
SK50-BHF53-220 | SK50-CK5-165 | BHF 53-95CKB5 5 | 220 164 50 53-70 122 | 2
SK50-BHF53-265 | SK50-CK5-210 | BHF 53-95CKB5 5 | 266 209 50 53-70 182 | 2
SK50-BHF68-145 | SK50-CK6-075 | BHF 68-150CKB6 | 6 | 146 75 64 68-100 | 122 | 2
SK50-BHF68-220 | SK50-CK6-150 | BHF 68-150CKB6 | 6 | 221 150 64 68-100 | 197 | 2
SK50-BHF68-280 | SK50-CK6-210 | BHF 68-150CKB6 | 6 | 281 210 64 68-100 | 222 2
SK50-BHF100-145| SK50-CK6-075 | BHF 100-203CKB6| 6 | 146 75 64 | 100-153 | 122 | 2
SK50-BHF100-220| SK50-CK6-150 | BHF 100-203CKB6| 6 | 221 150 64 | 100-153 | 197 | 2
SK50-BHF100-280| SK50-CK6-210 | BHF 100-203CKB6| 6 | 281 210 64 | 100-153 | 237 | 2
PE = CAUTION

BHFIESE B B M5 S = Y HI 2R 1200m/min, (B B BE A0 T A5 18 BLHE IR AR
HRE - #ERTHNRMESEREGREEE - FERTHENERR

BB TR -

34

The maximum cutting speed of BHF boring head itself is 1200 m/min.,

nevertheless, the actual allowable cutting speed and extension length depends on
the characteristics of machine and workpiece, please check all related information
to set the optimum cutting condition.

(SN SRS

m BUSREREA
[HSK-A40HCK -7 3]

HSK &} 1A
HSK BORING HEAD SHANK

1
FEEESIL & a3
TR CKNO.
S - N <]
***** )
_L____l 1
(| T 1
3 Il = Y —
_. (]
ARE(RER s CK NO.
E{T/Unit:mm
Bl 5 TYPE CK NO. ¢D A L L1 MIER e BE(kg)
HSK-A 40-CKB1-73 1 19 73 105 72 5 20-36 03
-CKB2-40 2 24 44 75 39 5 25-47 02
-85 2 24 89 120 84 5 25-47 0 4
-CKB3-45 3 Sl 57 85 45 32-60 03
-80 3 31 92 120 80 32-60 04
-CKB4-53 4 39 = 100 53 41-74 0 4
-73 4 39 - 120 73 41-74 05
HSK-A 50-CKB1-73 1 19 65 105 72 5 20-36 05
-CKB2-85 2 24 80 117 84 5 25-47 06
-CKB3-80 8 31 82 120 80 32-60 07
-CKB4-73 4 39 76 120 73 41-74 08
-CKB5-83 5 50 = 140 83 53-95 1
HSK-A 60-CKB1-78 1 19 73 110 77 5 20-36 09
-CKB2-90 2 24 83 125 89 5 25-47 1
-CKB3-100 3 31 103 140 100 32-60 11
-CKB4-93 4 39 103 140 93 41-74 12
-CKB5-83 5 50 105 140 83 53-95 13
-CKB6-79 6 64 = 150 79 68-203 15
HSK-A 100-CKB1-103 1 19 73 135 102 5 20-36 25
-CKB2-115 2 24 107 150 114 5 25-47 2 6
-CKB3-125 3 31 122 165 125 32-60 2 8
-CKB4-118 4 39 122 165 118 41-74 S
-178 4 39 182 225 178 41-74 35
-CKB5-108 5 50 122 165 108 53-95 BS
-183 5 50 197 240 183 53-95 4 4
-228 5 50 242 285 228 53-95 5
-CKB6-94 6 64 122 165 94 68-203 34
-169 6 64 197 240 169 68-203 5 &
-229 6 64 257 300 229 68-203 6 7
1ERPLEAWR Y I8 EBHF G BRI EHE - 1.Dimension “L” “A” in the above chart is the reference value for fitting the

2.5< EYEIRRST) 05 R ELE B IE TS M EAE AL -
IBHEBEN T RAER T AN —E -

BAREHEROLARL
4ARFHRLE

N

B INETHE o

shank on the BHF boring head.
2.The direction of boring insert must be same as spindle rotation direction.
3.Standard specification is made for inner cooling.

IMTE®: 9 20~ ¢ 203

4.The internal coolant tube is optional.

—

MIE®:01~050

MMIEE: ¢ 30~9203

35



BBk =R BRFEHESR

BHF FINE BORING MASTER SHANKS SERIES,HSK BHF FINE BORING SYSTEMS

BTSSR B =N (IREE S—

BHF SMALL DIAMETER MICRO BORING HEAD

Yo
] m BISREERER T] P s

BHF}2 OI-36|-|CKB 1 L

NI A
ﬁégﬁ]ve 3%51 of processing A

mTeE | o, .
BHF¥5#EEE  CK NO. s
& Sl
i
H
S/~ B2
L1
=4
[}iﬁi] Lz [ 7]}#@5
| i
‘I
BS{T7/Unit:mm ﬁ o
= Sl
*%}E_‘E‘E Boring Heads DE*E*% Shanks ?E;Lﬁ Boring Range A oD L [ ] 7\%%’?27{%&?@% ’ ZUFE%%@%Z—?@0.00Bmm(E@0.01mm) {g @ O 1 E
= =F e [ =4
BHF-CKB1 HSK50A-CK1-070 920 ~ 926 71 19 110 W EIREAIE000 Tmm(BAD) )® &
BHF-CKB2 -CK2-080 925~ ¢33 84 24 120 Bl One division on the scale corresponds to 0.005mm | NN GRRG “/ZL%I
. ) ) =9I P & pic
BHF-CKB3 -CK3-095 932~ ¢42 104 31 135 . movement,or 0.01 mm diametrical ad(;ustmer;t. : m/NEFLER B, I LEE/2)
High isi i i 0.001 .(di
BHF-CKB4 -CK4-088 ¢41 . ¢54 104 39 135 1gh precision vernier setting to mm 1a
BHF-CKB5 -CK5-078 53~ 970 104 50 135 B8 {T/Unit:mm
BHF-CKBT1 HSK63A-CK1-070 820~ 926 71 19 110 B g TYPE CKNO.| 7IKEE |MIBEEeD L L1 | MIE®eD| L2 L3 B BE(kg) | BEDH
BHF-CKB2 -CK2-080 825~ ¢33 84 24 120 1 Fi-1 2026 |32 5|29 5 - 10 5| 19 | 10 | 0 07 | TPO8
BHF-CKB3 -CK3-095 4 i? il ;i 104 31 135 BHF20-36CKB1 1 F1-2 25-31 |32 5|29 5| 3031 |10 5| 19 10 | 0 07 | TPO8
EEEEEE; -CK4-088 ? £g "0 — 104 :z 135 1 F1-3 30-36 32 5|29 5 30-36 10 5| 19 10 | 0 07 | TPO8
= = = [ ~ @
BHE-CKB6 EEZ 8(752 568 ~ 9100 17014 64 :ig 2 F2-1 25-33 35 5|32 5 = 11 5 21 12 5/ 0 12 TPO8
BHF25-47CKB2 2 F2-2 32-40 35 532 5 36-40 11 5 21 12 5| 0 12 TPO8
2 F2-3 39-47 35 5| 32 5 39-47 11 5 21 12 5| 0 12 TPO8
3 F3-1 32-42 40 35 - 10 25 16 0 21 TPO8
BHF32-60CKB3 3 F3-2 41-51 40 35 46-51 10 25 16 0 21 TPO8
3 F3-3 50-60 40 35 50-60 10 25 16 0 21 TPO8
4 F4-1 41-54 47 43 - 14 29 20 0 4 TC11
BHF41-7T4CKB4 4 F4-2 50-63 47 43 53-63 14 29 20 0 4 TC11
4 F4-3 61-74 47 43 61-74 14 29 20 0 4 TC11
5 F5-1 53-70 57 53 62-70 19 34 25 5 11 TC11
B 3R FZARE ¥IFEEER B O FZARE HIFEHERR B O FZARE HIFEHETR BHF53-95CKB5 5 F5-2 65-82 57 53 65-82 19 34 25 5| 1 1 TC11
TYPE Shape chart Boring TYPE Shape chart Boring TYPE Shape chart Boring
5 F5-3 78-95 57 53 78-95 19 34 25 5 1 1 TC11
i = =18 6 F6-1 68-100 71 67 2 80-100 22 45 2 132 5| 1 74 TC11
BE? BHF20-36CKB1 F4-2 BHF41-74CKB4 | F4-2E BHF41-74CKB4
F1-3 F4-3 F4-3E BHF68-150CKB6 6 F6-2 94-126 71 67 2 94-126 22 45 2|32 5|1 74 TC11
F2-1 F5-1 F5-1E » 6 F6-3 118-150 71 67 2 118-150 22 45 2 |32 5|1 74 TC11
F2-2 BHF25-47CKB2 | F5-2 BHF53-95CKB5 | F5-2E BHF53-95CKB5 6 F6-1 100-153 71 67 2 112-153 22 45 2 145 5| 2 46 | TC11
__F2-3 | 3 F5-3 F5-3E 0 - BHF100-203CKB6 | 6 F6-2 126-179 | 71 | 67 2| 126-179 22 |45 2|45 5| 2 46 | TC11
E3:il F6-1 F6-1E
ﬁ BHF32-60CKB3 | Fg.2 BHF68-150CKB6 F6-2E BHF68-150CKB6 6 F6-3 150-203 71 67 2 150-203 22 45 2 |45 5| 2 46 TC11
. HETIRTROS g | HMEJIRTCTT BHF1002030KBE [, FERTCT [gHF100-2030KBS
. N - — 1IN TEEZFETPO8T] A HER0.2 ~ TC11J] FHERO4AFHIE 1. The machining ranges means the radius of insert TPO8 and TC11, which respec-
RESFETI A 5553 IMETHE © No insert is included. 2.MIEEFO- 1T B EE  FO-2 ~ FO-3T] LR BRI o tively are RO.2 and RO.4 mm.
3URIEINTEF - FEhFE R EE - 2.F0-1 insert seat is standard; which FO-2, FO-3 are optional.
AR I A oo 3.Spindle rotation direction must be reversed when performing back-side boring.

4.No insert is included.

36 37



ERGIE =4

CK EQUAL DIAMETER EXTENSION ADAPTER

dSHEPE) el

BORING INSERT SYSTEM

(SIS

m BYSEEHEA
—
EERMNEEL
CK1EACK 1H3E 32
CK No. L o
—— - -
N\
N\ - i
S\ Y I
I
N T L Nl I~
=== ©
I
%T" '
. CK No.
L
[,
[ )
Y s\ I IR
|
Ol b a4 a
[
' | G

38

1.59
g
(O3
‘ 3Oy
7
1
B EEEHERRIIESECE - ERINTRE - "8@:"
B BRI AETHLAR ©
W {55 PR AE B B S AL (LD R B AT AR T
2.38
et - i .
N
| _ fo}
l Connected between taper shank and boring head, i \ / 5\
which extends the machining length and depth. 11° \//
B With coolant channel inside for coolant through.
B The Length/Depth ratio gets larger once it is connect,
the machining condition will be affected.
AER B
o) © ©
2.38
i o
3C
= / \%
IR
B8{T7/Unit:mm
RIgE TYPE oD L
CK1-020 19 20
-050 50
CK2-030 30
24 [
-050 50
CK3-030 31 30
-060 60
CK4-045 39 45
-090 90
CK5-050 50 50
-090 90
CK6-060 64 60
-100 100

NO. B X HEIA 7 B mig&

1 WCGT020102ELA 02 $AZARcopper alloy T1200A

2 WCGT02102ELA 02 =g steel forgings H1 FBRE(K10 18E)
3 WCGT020102FN 02 DA2200

NO. B X R 7 B migd

4 TPGP080202EL 02 ME A steel T1200A

5 TPGP080204EL 0 4 2 Asteel T1200A

6 TPGP080202EL 02 M fdsteel T130A

7 TPGP080204EL 0 4 A steel T130A

8 TPGP080202EL 02 A steel T130Z

9 TPGP080204EL 0 4 AR steel T130Z

10 TPGP080202EL 02 ME M steel T2000Z

11 TPGP080204EL 0 4 2 Asteel T2000Z

12 TPGD080202FN 02 1 A $flicastings BN250 CBN

13 TPGD080204FN 0 4 1# A #flicastings BN250 CBN

14 TPGD080202FN 02 t# A#flicastings BNC200

15 TPGD080204FN 0 4 & A$ficastings BNC200

16 TPGP080202L 02 EH520Z

17 TPGP080204L 0 4 EH520Z

18 TPGD080202FN 02 #Es8isteel forgings H1 FERB(K 10 40
19 TPGD080202FN 0 4 #Ef8isteel forgings H1 FBRE(K 10 4H5E)
20 TPGD080202FN 02 BN500

21 TPGD080202FN 0 4 BN500

22 TPGP080202FLA 02 H1 FBRE(K 10 45
23 TPGP080204FLA 0 4 H1 FERE(K 10 45
24 TPGD080202FN 02 DA2200

25 TPGD080204FN 0 4 DA2200

26 TPGP080201FLA 0 1 Al BT
NO. B R WA # = miER
27 TCMT1 10204EFM 0 4 ME A steel T1200A (M&R)

28 TCMT1 10208EFM 08 A steel T1200A (MZR)

29 TCGT1 10202EL 02 HiZ g steel T2000A (G#R)

30 TCGT1 10204EL 0 4 HHZEAGsteel T2000A (GHR)

31 TCGT1 10208EL 08 MZ A steel T2000A (G#R)

32 TCGT1 10202EL 02 2 A steel BN250

33 TCGT1 1020204EL 0 4 I fdsteel BN250

34 TCGT1 10208EL 08 HMZ A steel BN250

35 TCGT1 10202FN 02 A fficastings BNC200 CBN

36 TCGT1 10204FN 0 4 12 A $licastings BNC200 CBN

37 TCGT1 10202FN 02 JE A fficastings EH520Z CBN

38 TCGT1 10204FN 0 4 ## A$ficastings EH520Z CBN

39 TCGT1 10202L 02 EH520Z [

40 TCGT1 10204L 0 4 EH520Z HBE

41 TCGT1 10202 FN 0 2 | $=8steel forgings H1 #BIE

42 TCGT1 10204FN 0 4 | $EHsteel forgings H1 B

43 TCGT1 10202 FN 02 BN500 CBN

44 TCGT1 10204FN 0 4 BN500 CBN

45 TCGT1 10208FN 08 BN500 CBN

46 TCGT1 10202FLA 02 H1 HBIE(K10 HHE)
47 TCGT1 10204FLA 04 H1 FBRE(K10 435
48 TCGT1 102028FLA 08 H1 FBRE(K10 4HE)
49 TCGT1 10202FN 02 DA2200

50 TCGT1 10204FN 0 4 DA2200

51 TCGT1 10208FN 08 DA2200

390



RIS IRE R o

BORING HEAD SETS (CBH)

v R SR

BORING INSERT SYSTEM

NO. B Wt # = RER P )
Egéi §3§ 52 SCMP060204EFM 0 4 $2 M3 steel T1200A ) -
‘ 53 SCMP060204EFM 04 #2 M3steel AC2000 —RaF —
_ — 54 SCMP060204EFM 04 #H2 A steel AC3000 e
7 @) 55 SCMP060204EFM 0 4 | §&fisteel forgings | ACT700G SR
=\ 56 SCGA060204FN 0 4 | $BSfisteel forgings H1 BAE(K10 182)
57 SCGP060204FLA 04 H1 FH

NO. B R HRHEI # = miEH
58 SCMP070204EFM 0 4 il AZsteel T1200A

59 SCMP070204EFM 0 4 i Agsteel AC2000 —hA

60 SCMP070204EFM 0 4 HiZAgsteel AC3000 SRR

61 SCMP070204EFM 0 4 f5#steel forgings ACT00G RER

62 SCGAO70204FN 0 4 5 #isteel forgings H1 HBEK10 HE)
63 SCGPO70204FLA 0 4 H1 HBHE

HITIF (Without inserts):

AL gEED SR - W ARRAS
B3R /MODEL MIN MAX H-SYSTEM ARBOR
R R8-CBH2084 08-280 R8-UNF7/16-20-CBH2084
NO. B K ) 7 B miEa
NT30-CBH2084 | 08-280 DIN2080 ISO30M12-CBH2084
64 SCGMO090304EFM 0 4 A steel T1200A
65 SCGMO90308EFM 08 EZ fasteel AC2000 NT40-CBH2084 | 08-280 DIN2080 ISO40M16-CBH-2084
66 SCMMO90304EFM 0 4 SHEfasteel AC3000 —#gH NT50-CBH2084 | 08-280 DIN2080 ISO50M24-CBH-2084
67 SCMMO090308EFM 08 §=#steel forgings ACT00G —h%F MT4-CBH2084 08-280 DIN228A MT4M16-CBH2084
68 SCMMO090308EFM 08 =8 steel forgings H1 EEME MT5-CBH2084 | 08-280 DIN228A MT5M24-CBH2084
B CHIMO D03 05EFM L85 hill i BT40-CBH2084 | 08-280 | MAS403 BT40-CBH2084
=
70 SCGA090304FN 0 4 #EFE(K10 H8E) BT50-CBH2084 | 08-280 MAS403 BT50-CBH2084
71 SCGMO090308FLA 0 8 kafE
| SK40-CBH2084 | 08-280 DIN69871A ISO40M16-CBH2084
SK50-CBH2 08-280 DIN69871A 1ISO50M24-CBH2084

#3018 | &E D | RE BM| #EJA NO: 9 CER
MODE NO: | MIN MAX |Minensions| insert/radius | BOLT NO: |Wrench

BJ2008-32 8 11 32 TBGT060102L
SB-1STR-M2 | T6
BJ2010-40 | 10 13 40 TBGT060104L
BJ2012-53 | 12 17 53 TPGH090202L "

SB-2TR-M2.5| T8

BJ2016-68 | 16 21 68 TPGH090204L
BJ2020-83 | 20 130 83
BJ2025-96 | 25 135 96 TPGH110302L

BJ2030-115 | 30 140 115 | TPGH110304L

SB-3TR-M3 | T8

BJ20-20L 120 280 | 84+BT bar

40



AR Sl 3RwEE

BORING HEAD SETS (CBJ)

o B 2 S, B

BORING HEAD

RMEJF (Without inserts):

BE{s7/Unit:mm

C——1 [
e BLED | HERT-FTHIRARIS o
HSR/MODEL | \imax | " H-SYSTEM ARBOR | M -
BT40-CBJ16 06-51 H63 BT40-H63-55 55 !
o
BT50-CBJ16 06-51 H63 BT50-H63-65 65 T
=]
BT50-CBJ16 06-51 | H63 BT50-H63-85 85 BII AR o o .
BLJE | BB D | RE BM| B NO:| ER | e £
MODE NO: | MIN MAX |Minensions| insert/radius | BOLT NO: |Wrench
BJ160624 |6 9 24 | TBGTO60102L |SB-1STRM2 | T6  — >
328 11 32 BE——
BJ1608-32 TBGTOB0202L | oo\ crovio | T
BJ1610-40 | 10 13 40 | TBGT060104L -
53|12 15 53 e
1253 TPGH090202L _
BJ1614-60 | 14 17 60 SB-2TR-M2.5 | T8 >
TPGH090204L
BJ1616-68 | 16 21 68 >
BJ1620-83 |20 26 | 83 >
BJ1625-90 | 25 31 90 »
TPGH110302L »
BJ1630-90 | 30 36 90
SB-3TRM3 | T8 |
BJ1635-90 | 35 41 90 »
TPGH110304L
BJ1640-90 | 40 46 90
BJ1645-90 | 45 51 90

42

BM

@H=)

Here is a small boring head that will be in constant demand
in any shop.

Note the wide base bearing surface that assures maximum
rigidity even when the ber holder is in an off-set position.
This wide base design is a recent criterion. Innovation that
increases bearing surfaces by 50% over the older models.

A choice of 1/2" double hole bar holder with a 1/2" cross
hole is available. The unit has a 7/8-20

threaded back and also features a direct reading dial screw.

ES{i7/Unit:mm
ACTUAL |OVERALL |BORING BAR| CENTER DIST CROSS
MODEL | 'gizE | LENGTH | HOLE SIZE |BETWEEN HOLES|HOLE DIA|OFF SET| N.W.
BHC-2inch| 2"Dia 2-7/16" 1/2" 5/8" 1/2" 5/8" |0.7 kgs
BHC-2 m/m 50 63 12 15 12 15 0.7 kgs
C II Here is a sturdy unit of extended boring range, capable of
peeling off heavy roughing cuts as well as a tool extreme
sensitivity.
The use of a wide base bar holder, resting securely on the
body, eliminates the need for a separate sibe plate. You will
note this has now become an integral part of the body.
The direct reading adjusting screw is ground after hardening
and a plainly marked dial face in nonreflecting satin chrome
allows easy reading and adjustments of .0005 or less. All
criterion Boring
Heads have threaded backs for use with a variety of shanks.
This model takes a 1-1/2"-18 threaded shank.
B{17/Unit:mm
ACTUAL |OVERALL |BORING BAR| CENTER DIST CROSS
MODEL | gz | LENGTH | HOLE SIZE |BETWEEN HOLES|HOLE DIA|OFF SET| N-W.
BHC-3inch| 3"Dia 3-5/32" 3/4" 15/16" 3/4" 1" 2 kgs
BHC-3 m/m 75 80 18 23 18 25 2 kgs
This is bigger boring head which can be put on a large
machine to process more as you want.
The radius of boring hold can reach on about @400 m/m
long by a boring bar of 160m/m.
BE{TI/Unit:mm
ACTUAL |OVERALL |BORING BAR| CENTER DIST CROSS
MODEL | gz | LENGTH | HOLE SIZE |BETWEEN HOLES|HOLE DIA|OFF SET| N.W.
BHC-4 inch| 4"Dia 3-192" 1" 1-1/4" 1" 1"
BHC-4 m/m| 100 88 25 32 25 25

43



2" CH =R IS,

BORING HEAD SETS (BHC-2)

BORING HEAD SHANK

B (e*a

= T {F&tE:
s BR/MESLEE10mm
« RAIESLEE150mm
s R AESLIRES0mm
« YOMIFR O F IR ST

= THE SHANK FOR (BHC-2.BHC-3.BHC-4)
BORING HEAD

5\WORK RANGE:
© E/Unitmm * Mini boring diameter 10mm

44

® =STRAIGHT SHANK

AUSE /MODEL D L N.W.
200 20 60 0.40 kgs
250 25 60 0.50 kgs
320 32 60 0.60 kgs

* Maxi boring diameter 150mm
"
AUSE/MODEL SPECIFICATION N.W. « Maxi boring depth 50mm
BT40 M16 x 2.0 1.24 kgs  All the models in stable can be used
BT50 M24 x 3.0 3.97 kgs
(> BE{TI/Unit:mm
= T 0.60 kgs AUSH/MODEL SPECIFICATION N.W.
1] BHC-2 Without shank 1.40 kgs
3) BHC-2-BT40 M16 x P2.0 2.60 kgs
/2" .
NT30 1/2"x 20UNC 060 kgs BHC-2-BT50 M24 x P3.0 5.40 kgs
NT30 Mi2 x P1.75 0.60 kgs
L 2 g BHC-2-R8 7/16" x 20UNC 2.00 kgs
NT40 5/8" x 11UNC 1.20 kgs D
BHC-2-NT30 1/2" x 12UNC 2.00 kgs
NT40 M16 x P2.0 1.20 kgs
BHC-2-NT30 M12 x P1.75 2.00 kgs
NT50 1" x 8UNC 3.14 kgs
BHC-2-NT40 5/8" x 11UNC 2.60 kgs
NT50 M24 x P3.0 3.14 kgs
BHC-2-NT40 M16 x P2.0 2.60 kgs
BHC-2-NT50 1" x 8UNC 4.50 kgs
MT2 1/8" x 16UNC 0.40 kgs BHC-2-NT50 M24 x P3.0 4.50 kgs
s R F 0.0l BHC-2-MT2 3/8" x 16UNC 1.80 kgs
MT3 3/8" x 16UNC 0.44 kgs BHC-2-MT2 M10x P1.5 1.80 kgs
LI 172" x 130NG 0 BHC-2-MT3 3/8" x 16UNC 1.84 kgs
MT3 172" x 12UNC 0.44 kgs BHC-2-MT3 1/2" x 13UNC 1.84 kgs
UK 2 x Rl 0441558 BHC-2-MT3 1/2" x 12UNC 1.84 kgs
MT4 5/8" x 11UNC 0.95 kgs BHGC-2-MT3 M12 x P1.75 1.84 kgs
MT4 M16 x P2. 95 ki
6 x Rl 0958 BHC-2-MT4 5/8" x 11UNC 2.35 kgs
MT5 1" x 8UNC 1.70 kgs
BHC-2-MT4 M16 x P2.0 2.35 kgs
MT5 M24 x P3.0 1.70 kgs
BHC-2-MT5 1" x 8UNC 3.00 kgs
BHC-2-MT5 M24 x P3.0 3.00 kgs
MT2 TANGED 0.40 kgs BHC-2-MT2 TANGED 1.80 kgs
MT3 TANGED 0.50 kgs BHC-2-MT3 TANGED 1.90 kgs
MT4 TANGED 0.80 kgs BHC-2-MT4 TANGED 2.20 kgs
MTS TANGED 1.80 kgs BHC-2-MT5 TANGED 3.20 kgs

ESTRAIGHT SHANK

HUS /MODEL D L N.W
BHC-2-20 20 60 1.8 kgs
BHC-2-25 25 60 1.9 kgs
BHC-2-32 32 60 2.0 kgs

45



LERNE - =P L) [EE

TOOL HOLDER LOCKING FIXTURES

3" CHE=eSIE L HE

BORING HEAD SETS (BHC-3)

ER CLAMPING NUTS

= T {F&EE:
- R/ESLEEL10mm
- RATESLEE200mm
- RAIESLIFESOMmM
« YOMYFR O BRI SHEAT

=\WORK RANGE:
* Mini boring diameter 10mm
« Maxi boring diameter 200mm
» Maxi boring depth 80mm
= All the models in stable can be used

&8 {17/Unit:mm

46

CODE NO. TYPE D H G
B {L/Unit:mm 4339-0012 ER11A 19 13 M14x0.75P
BI5R/MODEL SPECIFICATION N.W. 4339-0016 ER16A 28 18 M22x1.50P
BHC-3 Without shank 3.6 kgs 4339-0020 ER20A 34 21 M25x1.50P
BHC-3-BT40 M16 x P2.0 5.0 kgs 4339-0025 ER25UM 42 20 M32x1.50P
BHC-3-BT50 M24 x P3.0 7.6 kgs 4339-0032 ER32UM 50 23 M40x1.50P
BHC-3-R8 716" x 20UNC 4.2 kgs 4339-0040 ER40UM 63 25 M50x1.50P ER11,16,20M ER11,16,20A ER25,32,40,50UM
BHC-3-NT30 1/2" x 12UNC 4.2 kgs
BHC-3-NT30 M12 x P1.75 4.2 kgs
BHC-3-NT40 5/8" x 11UNC 4.8 kgs
BHC-3-NT40 M16 x P2.0 4.8 kgs ER SPANNER WRENCH
BHC-3-NT50 1" x 8UNC 6.8 kgs
BHC-3-NT50 M24 x P3.0 6.8 kgs
BHC-3-MT2 3/8" x 16UNG 4.0kgs 3R 1R/PART NO. R 1R/PART NO.
BHC-3-MT2 M10 x P1.5 4.0 kgs ERT1 ER25
BHC-3-MT3 3/8" x 16UNC 4.4 kgs ER16 S
BHC-3-MT3 1/2" x 13UNC 4.4 kgs ER20 ER40
BHC-3-MT3 1/2" x 12UNC 4.4 kgs
BHC-3-MT3 M12 x P1.75 4.4 kgs
BHC-3-MT4 5/8" x 11UNC 4.6 kgs
BHC-3-MT4 M16 x P2.0 4.6 kgs
BHC-3-MT5 1" x 8UNC 5.3 kgs
BHC-3-MT5 M24 x P3.0 5.3 kgs TOOL HOLDER LOCKING FIXTURES
BHC-3-MT2 TANGED 4.0 kgs
BHC-3-MT3 TANGED 4.1 kgs
BHC-3-MT4 TANGED 4.4 kgs
BHC-3-MT5 TANGED 5.4 kgs
= STRAIGHT SHANK

AUSR/MODEL D L N.W.

BHO-2.20 2 0 2.0 kgs #2 18/PART NO. #2 18/DEACRIPTION

BHC-2-25 25 60 4.1 kgs BT30 7/24 Taper

BHC-2-32 32 60 4.2 kgs El40 724 TR

BT50 7124 Taper

47



ISR

IR

PULL STUDS PULL STUDS

BS{T/Unit:mm
8 18/TYPE a° L A ¢2 D d1 d2 d3 M {@sE/REMARK

BT30x45° 45 43 23 18 16.5 11 7 125 M12

BT30x60° 60 43 23 18 165 11 7 12,5 M12

BT30x90° 90 43 23 18 165 11 7 125 M12

BT40x45° 45 60 35 28 23.0 15 10 17.0 M16 E{L/Unitmm

BT40x60° 60 60 35 o8 23.0 15 10 17.0 M16 R 18/ TYPE L Al ¢2 D d1 d2 d3 d4 M @sE/REMARK

BT40x90° 90 60 35 28 23.0 15 10 17.0 M16 DIN30-A 44 24 19 17 13 o 13 - M12

BT50x45° 45 90 45 35 38.0 23 17 25.0 M24 BARAC-A i &5 al & 12 L L £ Mig

BT50x60° 60 90 45 35 38.0 23 17 25.0 M24 DIN40-A-L %4 29 23 23 19 14 17 0 M16

BT50x90° 90 90 45 35 38.0 23 17 25.0 M24 BlNo0-A L K = g6 es & = LLL Mg
BS{T/Unit:mm
R 18/TYPE a° L 1 ¢2 D d1 d2 d3 M @sE/REMARK

BT40x45°W 45 60 35 28 23 15 10 17 M16

BT40X60°W 60 60 35 28 23 15 10 17 M16 * THBELY Without O-ring

BS{i7/Unit:mm
BT40x90°W 90 60 35 28 23 15 10 17 M16 5
R 1B/TYPE L 1 €2 ¢3 ¢4 D d1 d2 d3 d4 M BE/REMARK

BT50x45°W 45 80 45 35 38 23 17 25 M24 DINGOB " ” 9 T - p ™ 5 " - 13
BT50x60°W 60 80 45 35 38 23 17 25 M24 DIN40-B 54 | 26 | 20 | 19 | 27 | 23 | 19 14 | 17 70 | Mi6
BT50x90°W 90 80 45 35 38 23 17 25 Ll DIN50-B 74 34 25 3.0 37 | 36 28 21 25 15 M24

48

49



SR HER e

SR IR ES

PULL STUDS PULL STUDS
FORISO /DIS 7388 /2 /A R FOR ANSI B5-50
BE{TI/Unit:mm
2 18/TYPE a° L e1 €2 D d1 d2 d3 M {BEE/REMARK
CAT40 45 38.1 16.2 1.2 23.8 18.8 12.4 7.4 5/8"
E5fi/Unit:mm CAT50 45 58.4 25.4 17.8 36.0 28.9 20.8 11.8 13
R 18/TYPE L 1 €2 D d1 d2 d3 d4 M B5E/REMARK
ISO40-A 54 26 20 23 19 14 17 7 M16
1ISO50-A 74 34 25 36 28 21 25 11.5 M24
FOR BT MACHINE
FORISO /DIS 7388 /2 /B
BE{T/Unit:mm
R 18/ TYPE ac L A €2 D d1 d2 d3 M B5E/REMARK
CAT40x45° 45 57.0 32 25.0 23 15 10 - 5/8"
CAT40x60° 60 57.0 32 25.0 23 15 10 - 5/8"
CAT40x90° 90 57.0 32 25.0 23 15 10 - 5/8"
CAT50x45° 45 78.6 45 35.2 38 23 17 - 1"
CAT50x60° 60 78.6 45 35.2 38 23 17 - 1"
EA/Unit:mm CAT50x90° 90 78.6 45 35.2 38 23 17 ] 1
] 8/TYPE L 1 2 D d1 dz2 d3 d4 M {B5E/REMARK CAT40x45°M 45 57.0 32 25.0 23 15 10 17 M16
ISO40-B 44.5 16.4 11.50 22.5 18.95 12.95 17 7.35 M16 CAT40x60°M 60 57.0 32 25.0 23 15 10 17 M16
1ISO50-B 65.5 25.5 17.95 37 29.10 19.60 25 11.55 M24 CAT40x90°M 90 57.0 32 25.0 23 15 10 17 M16

50

51



AL R

PULL STUDS

FOR MAZAK MACHINE

&S {i7/Unit:mm
] 1&/TYPE L ¢1 2 ¢3 D d1 d2 d3 d4 d5 M B53E/REMARK
MAZAK BT50 65.2 252 17.58 1.8 37 28.95 20.83 25 10 16 M24
MAZAK BT40 441 19.1 14 - 22 18.8 12.45 17 - M16
MAZAK CAT40 411 16.1 11 - 22 18.8 12.45 17 - M16
FOR MITSUI MACHINE
&S {t7/Unit:mm
3R 1&/TYPE ag L ¢1 ¢2 D d1 d2 d3 M B5E/REMARK
MITSUI BT40 90 50 25 18 23 15 10 17 M16
MITSUI BT50 90 71 31 23 36 24 18 25 M24

52



T AN =

SECTION DRAWING

—FE T BT EE

INTEGRATED KEYLESS DRILL CHUCKS

SECTION DRAWING

= —EET\ EH S B IREEMRERST -
FERFRE :
- TEIEBEE - « BERDLLZRBEMTE - < BFRE -
- IBESIB PR SRR B R E L SRER D BT/ -
EEEFIEES: No.75900 EBEFEEF: No.5275516

ETYPE:INT-C Integrated Type Keyless Drill Chucks
The main-shaft is of integrated type, which is much more superior
than the traditional design. The major features are as follows.
1. Extremely rigid constructiion.

2. The accumulative tolerances can be reduced to a minimum,
since the traditional mechanism requring and arbor to connect
the Drill chucks which will generate the accumulative tolerances.
The integrated type keyless Drill chuck is designed to solve
this problem totally.

3. Prevent the Dirill chucks from falling out.

4. Extremely safe in operation.
TAIWAN PAT. NO. 75900

15 E BB &

USA PAT. NO. 5275516

53

BUSR/TYPE | d | L |Bk&)/RUN-OUT|H%E/TORQUE Run-out Accuracy & Torque Inspection Table
INT-3 3 | 35 0.05 45
3
INT-8 Bl °° 0.05 160
8 | 50
5
INT-13 10 | % 0.05 400
13 | 75
5
INT-16 o °° 0.05 480
16 | 80
&S {t7/Unit:mm
AU /TYPE HFFBEJI/CLAMPING H#ESLSNEREEEY D
MT1-C 25.0 127.5 1225 160 20/0.83 475
INT-3 0.5~3.175 [1/64"~1/8"] JC1/2"-C 25.0 107.0 102.0 150 20/0.83 4/5
JC12-C 25.0 107.0 102.0 150 20/0.83 4/5
MT2-C 35.0 157.0 149.0 520 20/0.83 1112
INT-8 0.5~8.0 [1/64"~5/16"] JC20-C
e 35.0 141.0 133.0 500 20/0.83 10/11
R8-C 50.5 207.0 196.0 1500 20/0.83 30/31
MT2-C 50.5 184.0 172.0 110 20/0.83 22/23
MT3-C 50.5 201.0 190.0 1250 20/0.83 25/26
® B AXHSP.XH.EL HEMEE R EE MT4-C 50.5 227.0 216.0 1580 20/0.83 32/33
. INT-13 0.5~13.0 [1/64"~1/2" JC20-C
Only Used for XHSP. XH. H Type. [ ] 103140 50.5 164.0 153.0 1100 200083 | 22/23
E{TI/Unit:mm
JCc25-C
HmoR BBFR2TE )1 2= JC1-C 50.5 174.0 163.0 1250 20/0.83 25/26
Type Part Name Meterial Heat-treatment JC32-C
1 EE/Body JIS G4051(SAE1045) - JC1-1/4-C 50.5 185.0 173.0 1450 20/0.83 29/30
2 =E#/Hollow Shaft JIS SCM415(SAE4115) HRC60°+2° R8-C 56.0 211.0 198.0 1850 20/0.83 37/38
3 #E42/Driver JIS SNCM439(SAE4340) HRC520+2° MT3-C 56.0 207.0 194.0 1520 20/0.83 30/31
MT4-C 56.0 232.0 219.0 1850 20/0.83 37/38
4 $BEF/Ball - L =
5 FHERIRE}/ Locking Nut JIS SCM435(SAE4135) HRC54°+2° INT-16 3.0~16.0 [1/8"~5/8"] JC3/4-C 56.0 165.0 152.0 1450 20/0.83 29/30
= s JC25-C
6 =M/Jaws JIS SNCM439(SAE4340) HRC61°+2 4028 . o o - o oy
7 BiZE/Conical Sleeve JIS SCM415(SAE4115) HRC50°+2° N
8 $D38/Retaining Ring JIS G4051(SAE1045) i o ac 56.0 197.0 184.0 1720 20/0.83 35/36

54



KPUZLAZ 28

KPU TYPE KEYLESS DRILL CHUCK HEADS

KHSP 2L #I B8

XHSP TYPE KEYLESS DRILL CHUCK HEADS

NS

B SFRIERE T ZECNCERMBEIMECSER - 218K

e LIeERETRYE - BCHEEVFERANIRNEREHE

< BBESHECNCMREERER » Fop—8= °

HIZI5E0E -

1./EAR—BR{LEVEREt - SUTeTE— DELDIMAIESTHERE - R
ST LIRS -

2 B FROVE SIS HRE T LIRS Byl -

3[BT SRS -

4 (EFTSE - BOE -

5.100% 4V AR IS NV S ISR T BRI -

HEKPU Type Precision Keyless Drill Chuck Heads.
These chuck heads are specially for application in CNC keyless
drill chucks.

They are designed and manufactured to the highest engineering

standards.

The female thread inside the short type MORSE TAPER SHANK.

Make it possible to be firmly screwed together with CNC TOOL

SHANK and becomes INTEGRAL CNC DRILL CHUCKS.

1. Being an integral design, the drill chuck heads once screwed
together with TOOL HOLDER SHANK, the drill chucks will
never be disengaged from the Holder shanks.

2. Very high rigidity due to the special design.
3. Excellent performance and reilability.
4. High durability and easy to operate.
5. Superb accuracy is guaranteed because of 100% inspection
and strict quality control.
B {T/Unit:mm
A\
s E B iR K BTYPE | d | L | Bk8)/RUN-OUT | #%6/TORQUE
Run-out Accuracy & Torque Inspection Table 3
35
KPU-8 6 0.05 160
8 | 50
5
55
KPU-13 10 0.05 320
13 | 75
5
55
KPU-16 10 0.05 480
16 | 80
BUSR RFFEeT] i B e = QTY BIEE
A B C | D E
TYPE CLAMPING CAPACITY | FEMALE TAPER WT(g) | Pcs/Cu-Ft | NW/GW(Kgs)
KPU-8 0.5~8.0 [1/64"~5/16"] MT2 90 | 82.5| 30 | 35 | M6x1.00 360 40/0.6 15/16
MT2 101 76.0 | 30 | 56 | M8x1.25 1000 30/0.6 30/31
KPU13 0.5~13.0 [1/64"~1/2"]
MT3 118 | 106.0 | 38 | 56 | M8x1.25 1000 30/0.6 30/31
KPU16 3.0~16.0 [1/8"~5/8"] MT3 128 | 115.0 | 43 | 56 | M8x1.25 1300 18/0.6 24/25

55

RS S

= S SRIR RIS S HVRI AR S TAI RS

= SEAYIE A RS RIE T B RIVEEEK - ZREDEHEM
[E)4BE GoHI M {5

l@é%gﬁ;ﬁ%w%‘: s BELETE(E R B2 ChiR RS o) U TS N
FEEANE

= RSB S HRCNC RN RN SRR B AR

ETYPE:XHSP Keyless Drill Chucks

1. Special design &manufacture against for super heavy torque
(Clamping capacity) use.

2. Owing to inspecting strictly & with excellent RUN-OUT accuracy
and quality guanteed the gripping power is double than the
general brands.

3. Avoid the drill dropped when used in instantaneous change
of direction and equipped with spanner for tightening perfact
safety.

4. Especially suitable for CNC machining center & milling machine
use.

E{TI/Unit:mm

Az
*% E Eﬁi JL'B e ’-‘33:2 X AUSE/TYPE d L PkEN/RUN-OUT | 3% /TORQUE
Run-out Accuracy & Torque Inspection Table
6XHSP 2 35 0.05 80
3 | 35
8XHSP - e 0.05 160
3 | 35
10XHSP [0 60 0.05 260
5
13xHSP | 10 | %® 0.05 400
13 | 75
5
16XHSP | 10 | ®° 0.05 480
16 | 80
BUSE/TYPE | Z&3FBEE/I/CLAMPING | $£35LSNB1REAL D A | B |EE2WT(g)| QTY Pcs/Cu-Ft | 73/FEEZNW/GW(Kgs)
B12 34.0 | 69 |61 320 8/0.6 26/27
6XHSP 0.5~6.5 [1/64"~1/4"] J1 34.0 | 69 |61 320 8/0.6 26/27
B10 34.0 | 69 | 61 320 8/0.6 26/27
J2s 34.0 | 69 |61 320 40/0.6 13/14
8XHSP 0.5~8.0 [1/64"~5/16"] B10 34.0 | 69 |61 320 40/0.6 13/14
Ji 34.0 | 69 |61 320 40/0.6 13/14
B12 34.0 | 69 |61 320 40/0.6 13/14
J33 43.0 | 92 |81 700 40/0.6 28/29
. J2 43.0 | 92 |81 700 40/0.6 28/29
10XHSP 0.5~10.0 [1/64°~3/8"] J2s 430 | 92 | 81 700 40/0.6 28/29
B12 43.0 | 92 |81 700 40/0.6 28/29
B16 43.0 | 92 |81 700 40/0.6 28/29
J6 51.5 | 103 | 92 1030 30/0.6 31/32
. J2 515 | 103 | 92 1035 30/0.6 31/32
13XHSP pi5=13.0[1/64°~1/2"] J33 515 | 103 | 92| 1035 30/0.6 31/32
B16 51.5 | 108 | 92 1030 30/0.6 31/32
J6 58.0 | 108 | 95 1450 24/0.6 35/36
J33 58.0 | 108 | 95 1450 24/0.6 35/36
16XHSP 3.0~16.0 [1/8"~5/8"] B16 58.0 | 108 | 95 1450 24/0.6 35/36
B18 58.0 | 108 | 95 1450 24/0.6 35/36
J3 58.0 | 108 | 95 1450 24/0.6 35/36
W= /KEY 8XHSP
TWF/KEY 10XHSP
RF/KEY 13XHSP
IR /KEY 16XHSP

56



PRI

XH TYPE KEYLESS DRILL CHUCK HEADS

BTl

N2 DR e

H TYPE KEYLESS DRILL CHUCK HEADS

255

"ERRHUR -~ BRRERENIT -
= SFEEABSHIEREE -
= i) 495 > HHEEX -

H Suitable for milling & drilling machine
and heavy duty drilling use.

HHigh precision super drill chucks.

= Good rigidity allows high torque.

B {i/Unit:mm
B E MR X BISETYPE | d | L | 2k®)/RUN-OUT | #3%6/TORQUE
Run-out Accuracy & Torque Inspection Table 3
6XHSP s | 35 0.05 80
3 | 35
8XHSP N 5o 0.05 160
3 | 35
10XHSP |30 o 0.05 260
B
13xHsP | 10 | % 0.05 400
13 | 75
5
16XHSP | 10 | 2° 0.05 480
16 | 80
HIR/TYPE | S3585//CLAMPING | #3LNEM%EE | D | A | B |EEBWT(g) QTY Pcs/Cu-Ft | 38/EENW/GW(Kgs)
B12 340 | 69 | 61 320 8/0.6 26/27
6XH 0.5~6.5 [1/64"~1/4"] J1 340 | 69 | 61 320 8/0.6 26/27
B10 340 | 69 | 61 320 8/0.6 26/27
J1 340 | 69 |61 340 40/0.6 14/15
. J2s 340 | 69 |61 340 40/0.6 14115
2l B il 64.~5/167] B10 340 | 69 |61 340 40/0.6 14/15
B12 340 | 69 | 61 340 40/0.6 14/15
J2s 430 | 92 |81 700 40/0.6 28/29
J2 430 | 92 |81 700 40/0.6 28/29
10XH 0.5~10.0 [1/64"~3/8"] J33 430 | 92 |81 700 40/0.6 28/29
B12 430 | 92 | 81 700 40/0.6 28/29
B16 430 | 92 | 81 700 40/0.6 28/29
J2 515 | 103 | 92| 1030 30/0.6 31/32
. J6 515 | 103 | 92| 1030 30/0.6 31/32
2yl Rl 6a 1127 J33 515 | 103 | 92| 1035 30/0.6 31/32
B16 515 | 103 | 92| 1030 30/0.6 31/32
J6 58.0 | 108 | 95| 1370 24/0.6 33/34
B16 580 | 108 | 95| 1370 24/0.6 33/34
16XH 3.0~16.0 [1/8"~5/8"] B18 580 | 108 | 95| 1365 24/0.6 33/34
J3 580 | 108 | 95| 1340 24/0.6 33/34
J33 58.0 | 108 | 95| 1340 24/0.6 33/34

57

= AR R0 T
=B RRIER
= [ {EEERE

mUsed for medium duty drilling operations.

= Suitable for drilling machines.
= Compact & rigid.

B {i/Unit:mm
B E BB X RISR/TYPE | d | L | Bk&)/RUN-OUT | $%8/TORQUE
Run-out Accuracy & Torque Inspection Table 3
6H 6 | 35 0.08 75
8H 8 | 50 0.08 75
3
10H 6 | 3° 0.08 115
10 | 58
5
13H oy °° 0.08 175
13 | 75
5
16H 10 | % 0.08 300
16 | 80
BUSE/TYPE | ZKFFRESI/CLAMPING | $#£3SNER5EEL D A | B [EE2WT(g)| QTY Pcs/Cu-Ft | 7$/FEENW/GW(Kgs)
J1 34 69 | 61 320 80/0.6 26/27
6H 0.5~6.5 [1/64"~1/4"] B10 34 69 | 61 320 80/0.6 26/27
B12 34 69 | 61 320 80/0.6 26/27
J1 34 69 | 61 340 80/0.6 28/29
- B .16 J2 34 69 | 61 340 80/0.6 28/29
B10 34 69 | 71 340 80/0.6 28/29
B12 34 69 | 71 340 80/0.6 28/29
J2s 425 | 92 |81 700 40/0.6 28/29
J2 425 | 92 |81 700 40/0.6 28/29
10H 0.5~10.0 [1/64"~1/2"] J33 425 | 92 |81 700 40/0.6 28/29
B12 425 | 92 |81 705 40/0.6 28/29
B16 425 | 92 |81 705 40/0.6 28/29
J6 50.5 | 103 | 92| 1030 30/0.6 31/32
13H 0.5~13.0 [1/64"~3/8"] J33 50.5 | 103 | 92| 1035 30/0.6 31/32
B16 505 | 103 | 92| 1030 30/0.6 31/32
J6 50.5 | 103 | 92| 1030 30/0.6 31/32
16H 3.0~16.0 [1/8"~5/8"] B16 50.5 | 103 | 92| 1030 30/0.6 31/32
B18 50.5 97| 1040 30/0.6 31/32

58



EaeZEnTy|

REFERENCE DATA

B8 {1/Unit:mm

MORES TAPER MT/MK a L1 L2 D D1 (¢}
0 3.0 53 50.0 9.045 9.2 1°2927"
1 3.5 57 53.5 12.065 12.2 1° 25'43"
2 5.0 69 64.0 17.780 18.0 1° 25'50"
3 5.0 86 81.0 23.825 241 1°26'16"
4 6.5 109 102.5 31.267 31.6 1°29'15"
5 6.5 136 129.5 44.399 44.7 1° 30'26"
6 8.0 190 182.0 63.348 63.8 1°29'36"
7 10.0 260 250.0 83.058 83.6 1°29'22"

B {T7/Unit:mm

MORES TAPER MT/MK a L1 L2 D D1 (5]
0 3.0 59.5 56.5 9.045 9.2 1°29'27"
1 S5 6585 62.0 12.065 12.2 1°25'43"
2 5.0 80.0 75.0 17.780 18.0 1° 25'50"
3 5.0 99.0 94.0 23.825 241 1°26'16"
4 6.5 124.0 117.5 31.267 31.6 1°29'15"
5) 6.5 156.0 149.5 44.399 447 1° 30'26"
6 8.0 218.0 210.0 63.348 63.8 1°29'36"
7 10.0 296.0 286.0 83.058 83.6 1°29'22"

59

60



MEMO

MEMO

61

62



	麗勳-綜合型錄-C+E-72P-改版Cover_ok_OUT
	麗勳-綜合型錄68P-改版.pdf
	公司簡介
	目錄
	P01+02.pdf
	P03+04
	P05+06
	P07+08
	P09+10
	P11+12
	P13+14
	P15+16
	P17+18
	P19+隔頁
	P20+21
	P22+23
	P24+隔頁
	P25+26
	P27+28
	P29+30
	P44+45
	P46+47
	P48+49
	P50+51
	P52+隔頁
	P53+54
	P55+56
	P57+58
	P59+60
	P61+62




